- ©migrbor

"~ TOOL HOLDERS &

o ACCESSORIES

‘Turning Tool 'Holplers__-
- " .Mill Bodies . .
" Drill Bodies =~




Table of Contents

About Company
Our Products
External Tool Holder Identification System
External Turning Tool Holders
Internal Tool Holder Identification System
Internal Turning Tool Holders
Drill Bodies Identification System
Drill Bodies
Mill Bodies Identification System
Mill Bodies

fior

0 N U1 W

43
44
73
74
91
92



International advanced manufacturer
of high quality metal cutting tools

i Own Engineering and
T Support Center

We calculate the influence of proposed
solutions on the economical efficiency and
adjust the processing program (if necessary)

Operability

We promptly send a standard tool from
stock or produce the customized tools as
fast as possible

Certified Products
<\

The quality of produced tool is confirmed
by compliance with the international
standard ISO 9001-2015

p
lo;xd" Value-for-money Factor

Flexible discount system for regular
customers and the quality of the tool at
the level of global producers

ﬂ]’ Constant Development

650+ companies have become our customers.
Our portfolio is constantly updated

= Microbor




Microbor does not only produce the tools, but also guarantees their effective appliance,
thanks to the comprehensive engineering service. Our target is to increase the machining
efficiency by increasing the speed of metal processing and reducing the production cost.

1500 M > 2000 9 COUNTRIES .
f
production area items in stock sales geography J
worldwide /
f
'
12 YEARS 1500 M 75 EMPLOYEES n B
[
on the market and more area for the 10 engineers for .
than 20+ years of R&D development of carbide the .
tools production site implementation J

Microbor production is fit with modern equipment. We apply our own know-how at every
stage of production.

CARBIDE INSERTS CBN CERAMIC

°
P @

v

THREADING END MILLS GROOVING & TOOL HOLDERS & \,
INSERTS PARTING TOOLS ACCESSORIES \ .




Our Products

& micrabor @& & microbor

THREADING
TOOLS

Theeading Inse:
i

jcrobor & microbor (& miErohor

SUPER-HARD CARBIDE GROOVING &
1ATERIAL TO TOOLS PARTING TOOLS

Iress sal Holders

We constantly work on expanding our portfolio and improving service level.
More information on our new solutions on the website: microbor.com/en

Download the Microbor mobile app "Cutting Modes" >

Cutting Modes

5 or



TURNING
TOOLHOLDERS

el




External Tool Holder Identification System

A LT T T T T

) = il il i)

Clamp dl.cl;gg|2%'|g'tn.¥p Pin/Clamp lock Pin/Wedge or Lever lock Screw-on
© T M P S

2. Insert Shape

80°‘ 55°I 75°' 55° . . | 35° 80°| 85° 82° 75"‘ 86°‘ 135". 108‘"
L R S T \ W A

@ D E K B H M O P

3. Cutting Edge Angle
.\‘90° 90° 93 45° 60° 72,5° 85° 40°

90° 75° 45° 60° ° 75° 95° 50° 63° 90°
B A = F K LJ M R

25°

F

D G
4. Entering Angle

e

A o
3 7 15 20° 30 (6} n
A B C D E G N P
5. Hand of Tool 6. Shank Height 7. Shank Width
B
L N R

8. Tool Length (mm)

A-32 H-100 Q-180
B-40 J-110 R-200 F
c-50 k-125 5-250 /,/
D-60 L-140 T-300 x-special © / /
E-70 M-150 U-350 i
F-80 N-160 V-400 ‘ LF
G-90 P-170 W-450

9. Cutting Edge Length 10.

L AN KX NN VY NS

o e e Bl L) L) L el o ssceme (S
i

@ microbor

S | With Reduction




External Turning Tool Holders

‘ ﬁ Holding Method P

f Holding Method C

PCBNR/L p.m PSKNR/L p.14
B~ ]
m\ CN.. SN..
@
1204.. 0903..
1606.. 1204..
1906.. 1506..
20x20 - 50x50 |  2509.. 20x20 - 50x50 1906../2509..
PCLNR/L p.M PSSNR/L p.14
o o
CN.. SN..
0903.. 0903..
1204.. 1204..
1606.. 1506..
16x16 - 50x50 1906../25089.. 16x16 - 40x40 | 1906../2509..
PDJINR/L p.12 PTFNR/L p.15
93° Y. 4 90° A
DN.. N..
1104.. 1604..
1506.. 2204..
2706..
16x16 - LOX40 16x16 - LOX40
PDNNN p.12 PTJUNR/L p.15
62,5° ’ 93 A
DN.. N..
1104.. 1103..
1506.. 1604..
2204..
16x16 - 32x32 10X10 - 40x40 | 2706..
PSBNR/L p. 13 PTTNR/L p.16
] A
SN.. N..
0903.. 1604..
1204.. 2204..
1506..
16x16 - 50x50 | 1906../2507.. 16x16 - 32x32
PSDNN p. 13 PWLNR/L  p.1
45° n 95° °
W SN.. WN..
L 0903.. 06064..
1204.. 0804..
1506..
16x16 - 50x50 1906../2509.. 16x16 - 32x32

CKINR/L  p.17 CRSNR/L = p.20
= 4 )
KNUX. a RN.N
1604.. - 060300
0903(04°)00
1204(03*)00
20x20 - 40X40 25x25 - 40x40 | 190700
CCLNR/L  p.17 CSDNN p.21
B < 0
CN.N SN.N
0903(04").. 0903(04%)..
1204(03").. | 1204(03)..
1207.. 25x25-32x32 | 1207..
20x20 - 32x32  1607..
CSKNR/L = p.21
CDJNR/L .18
/ p - O
93°
&y SN.N
DN.N 1207..
107.. 25x25 - 32x32
20x20 - 32x32 | 1507..
CSRNR/L  p.22
CDNNN/L  p.18 75 .
&
SN.N
DN.N 0903(04%)..
- 107.. 1204(03")..
25x25 25x25-32x32 | 1207..
CRDCN  p.19 CSSNR/L = p.23
! O . ]
RCGX 060600 SN.N
RCGX 090700 0903(04’)"
25x25 - 40x40 | RCGX 120700 1204(03%)..
CRDCR/L p. 19 25x25 - 32x32 1207..
. CTINR/L  p.23
A
RCGX 060600
RCGX 090700 TN.N
32x25 RCGX 120700 1607..
CRDNN b.20 25x25 - 32x32
a RN.N
- 060300
0903(04*)00
1204(03*)00
25x25 - 40x40 | 190700

microbor




External Turning Tool Holders

E

Holding Method T

ﬁ Holding Method M

MTENN p. 29 MWLNR/L p.30
o A e A
TN.. WN..
1604.. 0604..
2204.. 0804..

20x20 - 40x40 16x16 - 32x32

MTJINR/L  p.29 MWMNN  p.30
W A ga A
TN.. WN..
1604.. 0604..
2204.. 0804..

20x20 - 40x40

16x16 - 32x32

TCLNR/L  p.24 TVJINR/L p.27
95° n 93° l
CN.. VN..
1204.. 1604..
1606..
20x20 - 50x50 20x20 - 32x32
TDJNR/L p. 24 TVVNN p.27
DN.. VN..
1O04.. 1604..
1504..
1506..
16x16 - 50x50 20x20 - 32x32
TSDNN p.25 TWLNR/L  p.28
g = A
SN.. WN..
1204.. 0604..
1506.. 0804..
16x16 - 40x40 16x16 - 50x50
TSSNR/L  p.25
45° n
SN..
1204..
1506..
20x20 - 32x32
TTENN p. 26
A
TN..
1604..
2204..
20x20 - 40x40
TTINR/L  p.26
A
TN..
1604..
2204..

20x20 - 40x40

microbor




External Turning Tool Holders

& Holding Method S

SVJBR/L p. 41
o5 . 4
VB..
103..
16x16
SVJCR/L  p.4
S V. 4
VC..
103..

08x08 - 20x20

SCACR/L  p.3 SSDCN p.35
o] “ (o]
cC.. sC..

0602 09T3..
09T3. 1204..
1204..
08x08 - 25x25 12x12 - 25x25
SCLCR/L p. 31 SSSCR/L p-35
o .
cc.. sC..
0602.. 09T3..
09T3.. 1204..
1204..
08x08 - 25x25 1212 - 25x25
SDHCR/L  p.32 STFCR/L p- 36
107,5° ’ 90 A
DC.. TC..
0702.. 0902..
11T3.. 1102..
16T3..
08x08 - 32x32 08x08 - 32x32
SDJCR/L p.32 STJCR/L p. 36
93° ’ 93° °
\J
DC.. TC..
0702.. 0902..
nT3.. 1102..
16T3..
08x08 - 32x32 08x08 - 32x32
SDNCN p. 33 SVHBR/L  p.37
62,5° ’ 107,5° l
DC.. VB..
0702.. 1103..
1173.. 1604..
08x08 - 32x32 12x12 - 32x32
SRDCN p. 34 SVHCR/L @ p.37
° 107,5° l
RC.. VC..
0602../0803.. 1103..
10T3../1204.. 1604..
1605../2006..
16x16 - 32x32 | 2507../3209.. 12x12 - 32x32

SVJBR/L p. 38
% . 4
VB..
103..
1604..
12x12 - 32x32
SVJCR/L .38
= . 4
VC..
1103..
1604..
12x12 - 32x32
SVVBN p. 39
28 . 4
VB..
1103..
1604..
12x12 - 32x32
SVVCN p. 39
2 . 4
VC.
1103..
1604..
12x12 - 32x32
SCLCR/L  p.40
o
cc..
0602..
09T3..
08x08 - 20x20
SDJCR/L  p.40
o
DC..
0702..
11T3..

08x08 - 20x20

microbor




External Turning Tool Holders

.
[a T T
O
o
=
@
E m
(o))
£
) LF
o
I
Dimensions (mm) it Accessories
Order Number |::t:tg Clamp " Lock
HF=H| B LF | WF Lever Lever Screw Shim Sariing Clamp Clamp Screw Hex Key
0 ' & )
PCBNR/L 2020K12C | 20 | 20 125 175
2525 M12C 25 25 150 | 225 CN..1204.. APL-02 ALV-03-M8x19 | AACN-3-0001 AAY-02 ACK-05 4015-M4x11 AAL-03-3
3232 P12C 32 32 | 170 | 295
2525 M16C 25 | 25 | 150 | 22
CN.. 1606.. APL-04 ALV-04-M8x22 | AACN-3-0002 AAY-03 ACK-09 AAV-05-M6x15 | AAL-03-3
3232 P16C 32 32 170 | 27
3232 P19C 32 | 32 170 27
CN.. 1906.. APL-05 ALV-05-M10x27 | AACN-3-0003 AAY-04 ACK-09 AAV-05-Mé6x15 AAL-05-4
4040819C | 40 | 40 | 250 | 37
4040825C | 40 | 40 | 250 37
CN.. 2509.. APL-06 ALV-06-M12x36 | AACN-3-0008 AAY-05 ACK-04 AKV-16-M6x16 AAL-07-5
5050 S25C 50 | 50 | 250 | 47
T % T
§ m |—
©
95°
LF
Dimensions (mm) . Accessories
Order Number Cating
HF=H B LF | WF e Gl Lever Screw Shim Lock Clamp Clamp Screw Hex Key
Lever Spring
©
&
0 & & (2
PCLNR/L 1616 HO9 16 16 | 100 | 20
2020K09 |« 20 | 20 | 125 | 25 CN.. 0903.. APL-01 ALV-02-M6x17 | AACN-2-0002 AAY-01 - - AAL-02-2.5
2525 M09 25 25 150 | 32
1616 H12 16 16 | 100 | 20 - N
2020K12C | 20 | 20 125 25
CN.. 1204.. APL-02 ALV-03-M8x19 | AACN-3-0001 AAY-02 AAL-03-3
2525 M12C 25 | 25 | 150 | 32 ACK-05 4015-M4xT1
3232 P12C 32 32 | 170 | 40
2525M16C | 25 | 25 | 150 @ 32
CN.. 1606.. APL-04 ALV-04-M8x22 | AACN-3-0002 AAY-03 ACK-09 AAV-05-M6x15 | AAL-03-3
3232 P16C 32 32 | 170 | 40
2525 M19C 25 | 25 | 150 | 32
3232 P19C 32 32 | 170 | 40 CN.. 1906.. APL-05 ALV-05-M10x27 | AACN-3-0003 AAY-04 ACK-09 AAV-05-M6x15 | AAL-05-4
4040819C | 40 | 40 | 250 | S0
4040825C | 40 | 40 | 250 | 50
CN.. 2509.. APL-06 ALV-06-M12x36 | AACN-3-0008 AAY-05 ACK-04 AKV-16-M6x16 AAL-07-5
5050825C | 50 | 50 | 250 | 6

@ Microhor



External Turning Tool Holders

[a0]
o
93 PDJNR
§Ii EI - 7 -
Ee)]
o
<
w
2 (0]
1S
4 (&)
93° LF £
‘ o
o
T
Dimensions (mm) . Accessories
Order Number CUtiig
" HF=H B | LF @ WF Insert Clamp Lever screw Shim Lock Clamp Clamp Screw Hex Key
B Lever Spring
S BN
@ & L
S L ] |
PDJNR/L 1616 H11 16 16 | 100 | 20
2020 KT 20 20 125 | 25 DN.. 1104.. APL-01 ALV-02-Méx17 | AADN-SD317 AAY-01 - - AAL-02-2.5
2525 M1 25 25 150 | 32
2020 K15C 20 20 125 | 25
2525 M15C 25 25 | 150 @ 32
DN.. 1506.. APL-03 ALV-03-M8x19 | AADN-3-0001 AAY-02 ACK-05 4015-M4x11 AAL-03-3
3232 P15C 32 32 170 | 40
4040 S15C 40 | 40 | 250 50
L
IT ﬂ\ I 7 7
[a1]
© ®
o
625 LF
Dimensions (mm) . Accessories
Order Number SHE
u we=tl B IF | wE Insert Clamp Lever Screw Shim Lock Clamp Clamp Screw Hex Key
- Lever Spring
N
&S
< & & &
PDNNN 1616 H11 16 16 | 100 8
2020 KT 20 20 125 | 10 DN.. 1104.. APL-01 ALV-02-Mé6x17 | AADN-SD317 AAY-01 - - AAL-02-2.5
2525 M1 25 25 | 150 | 125
2020 K15C 20 20 125 | 10
2525 M15C 25 25 150 125 DN.. 1506.. APL-03 ALV-03-M8x19 | AADN-3-0001 AAY-02 ACK-05 4015-M4x11 AAL-03-3
3232 P15C 32 32 | 170 16

microor




External Turning Tool Holders

[a0]
75° PSBNR
o
£ T
ie
[¢]
<
=)
£
(o))
£
ko] LF
[e]
T
Dimensions (mm) . Accessories
Order Number Suttig
0 Insert Clamp Lever Screw Shim Lock Clamp Clamp Screw Hex Key
HF=H B LF  WF .
Lever Spring
Q
&
\\\\ \—
PSBNR/L 1616 HO9 16 16 100 | 13
SN.. 0903.. APL-01 ALV-02-M6x17 | AASN-2-0002 AAY-01 - - AAL-02-2.5
2020 K09 20 | 20 | 125 | 17
2020 K12 20 | 20 | 125 | 17 - -
2525 M12C 25 25 | 150 @ 22 SN..1204.. APL-02 ALV-03-M8x19 | AASN-3-0004 AAY-02 AAL-03-3
ACK-05 4015-M4x
3232 P12C 32 32 170 | 27
2525 M15 25 25 150 @ 22 - -
SN..1506.. APL-04 ALV-04-M8x22 | AASN-3-0023 AAY-03 AAL-03-3
3232 P15C 32 32 170 | 27 ACK-09 AAV-05-Mé6x15
3232 P19C 32 32 170 | 27
SN..1906.. APL-05 ALV-05-M10x27 | AASN-3-0005 AAY-04 ACK-09 AAV-05-M6x15 | AAL-05-4
4040819C | 40 | 40 | 250 | 35
4040825C | 40 | 40 | 250 | 35
SN.. 2509.. APL-06 ALV-06-M12x36 | AASN-3-0020 AAY-05 éEK—OA AKV-16-M6x16 AAL-07-5
5050825C | 50 | 50 | 250 @ 43

LIL? & ; T
z
L?@ |
| 45 LF ©

>
Dimensions (mm) i Accessories
utting
Order Number T P Yo e insert Clamp Lever Screw Shim Lock Clamp Clamp Screw Hex Key
a Lever Spring
Q
r
& —
PSDNN1616HO9 | 16 16 | 100 | 8 | SN.0903. | APL-O1 | ALV-02-Méx17 | AASN-2-0002  AAY-01 | - | - | AAL-02-25 |

2020K12C | 20 | 20 | 125 | 10
2525M12C | 25 | 25 | 150 | 125 | SN..1204.. APL-02 ALV-03-M8x19 = AASN-3-0004 AAY-02 ACK-05 4015-M4x11 AAL-03-3
3232P12C | 32 | 32 | 170 | 16

2020K15 | 20 | 20 125 10 - -
SN.. 1506.. APL-04 ALV-04-M8x22 | AASN-3-0023 AAY-03 AAL-03-3
2525M15C | 25 | 25 | 150 125 ACK-09 AAV-05-Mé6x15

3232P19C | 32 | 32 | 170 | 16
4040819C | 40 | 40 | 250 @ 20 SN.. 1906.. APL-05 | ALV-05-M10x27 | AASN-3-0005 AAY-04 ACK-09 AAV-05-M6x15 | AAL-05-4
5050819C | 50 | 50 | 250 | 25

4040825C | 40 | 40 250 | 20
5050825C | 50 | 50 | 250 | 2

microbor

SN.. 2509.. APL-06 | ALV-06-M12x36 AASN-3-0020 AAY-05 ACK-04 AKV-16-Méx16 AAL-07-5

IS




External Turning Tool Holders

m
75°
o
T T

§e]

[¢]

c

=

: :

(0]

LF £

[¢]

T

Dimensions (mm) X Accessories
Order Number Cutting
raer Nu . Insert Clamp Lever Screw Shim Lock Clamp Clamp Screw Hex Key
HF=H B LF | WF .
Lever Spring
)
&
\\& —
PSKNR/L 2020Kk09 | 20 | 20 | 125 | 25 | SN.0903.  APL-01 | ALV-02-MéxI7 AASN-2-0002  AAY-01 | - | - | AAL-02-25 |

2020K12C | 20 20 125 @ 25
2525M12C | 25 | 25 150 | 32 SN.. 1204.. APL-02 ALV-03-M8x19 = AASN-3-0004 AAY-02 ACK-05 4015-Max11 AAL-03-3
3232P12C | 32 | 32 | 170 | 40

2525M15C | 25 | 25 | 150 | 32

SN.. 1506.. APL-04 ALV-04-M8x22 | AASN-3-0023 AAY-03 ACK-09 AAV-05-M6x15 | AAL-03-3
3232P15C | 32 | 32 | 170 | 40
3232P19C | 32 32 170 @ 40
SN.. 1906.. APL-05 | ALV-05-M10x27  AASN-3-0005 AAY-04 ACK-09 AAV-05-M6x15 | AAL-05-4
4040819C | 40 | 40 | 250 | S50
4040825C | 40 | 40 250 | 50
SN.. 2509. APL-06 | ALV-06-M12x36 AASN-3-0020 AAY-05 ACK-04 AKV-16-Méx16 AAL-07-5
5050825C | 50 | 50 | 250 | 60
m

LF o)
Dimensions (mm) X Accessories
Order Number Cliiilg
raer HF=H B LF | WF Insert Clamp Lever Screw Shim Lock Clamp Clamp Screw Hex Key
B Lever Spring
N
&
&\\ —
PSSNR/L1616 HO9 | 16 | 16 | 100 | 20
SN.. 0903.. APL-01 ALV-02-M6x17 | AASN-2-0002 AAY-01 - - AAL-02-2.5

2020K09 | 20 | 20 125 | 25

2020K12C | 20 | 20 | 125 | 25
2525M12C | 25 | 25 150 | 32 SN.. 1204.. APL-02 ALV-03-M8x19 | AASN-3-0004 AAY-02 ACK-05 4015-M4x11 AAL-03-3
3232P12C | 32 | 32 | 170 | 40

3232PI5C | 32 | 32 | 1770 40 | SN.1506. | APL-O4 | ALV-04-M8x22 AASN-3-0023 = AAY-03 | ACK-09  AAV-05-Méx15 | AAL-03-3
3232P9C | 32 | 32 170 | 40

SN..1906. | APL-05  ALV-05-MI0x27 AASN-3-0005 = AAY-O4 | ACK-09 | AAV-05-Méx15 | AAL-05-4
4040S19C | 40 | 40 | 250 | 50
4040S25C | 40 | 40 | 250 | 50 | SN.2509. | APL-06 | ALV-06-M12x36| AASN-3-0020 = AAY-05 | ACK-O4 | AKV-16-Méx16 | AAL-07-5

microbop




o
O
o
<
e
(V]
1S
(o)
i=
i)
o
T

External Turning Tool Holders

[a0]
o
90 ; PTFNR
[T
T I
=
LF
‘ )
Dimensions (mm) . Accessories
Order Numb Cutting
raer Numboer HFE=H B F | WF Insert Clamp Lever Screw Shim Lock Clamp Clamp Screw Hex Key
= Lever Spring
Q
$
& ASN
PTFNR/L 1616 H16 16 16 | 100 | 20
2020 K16 20 | 20 | 125 | 25
TN.. 1604.. APL-01 ALV-02-Méx17 | AATN-3-0025 AAY-01 - - AAL-02-2.5
2525 M16 25 25 150 | 32
3232 P16 32 32 | 170 @ 40
2525M22C | 25 | 25 | 150 | 32
TN.. 2204.. APL-02 ALV-03-M8x19 | AATN-3-0015 AAY-02 ACK-05 4015-M4x1 AAL-03-3
3232 p22C 32 32 170 @ 40
\ 4040S27C | 40 40 | 250 | 50 | TN.2706. | APL-05  ALV-05-M10x27 07042701 AAY-04 | ACK-09 | AKV-05-Méx15 | AAL-05-4
o
93 PTJNR
T T .
§ m
LF .
Dimensions (mm) . Accessories
Order Numbe Cutting
raer Nu r HFE=H B LF | WF Insert Clamp Lever Screw Shim Lock Clamp Clamp Screw Hex Key
h Lever Spring
©
&
S ——
PTJNR/L 1010 ET1 10 10 70 12
1212 F11 12 12 80 16 TN.. 103.. APL-11 ALV-10-M5x10 - - - - AAL-13-2.5
1616 H11 16 16 | 100 20
1616 H16 16 16 | 100 20
2020 K16 20 | 20 | 125 | 25
TN.. 1604.. APL-01 ALV-02-Méx17 | AATN-3-0025 AAY-01 - - AAL-02-2.5
2525 M16 25 25 150 | 32
3232 P16 32 32 | 170 | 40
2525 M22C 25 25 150 | 32
TN.. 2204.. APL-02 ALV-03-M8x19 | AATN-3-0015 AAY-02 ACK-05 4015-M4x11 AAL-03-3
3232 P22C 32 32 | 170 | 40
4040 S27C ‘ 40 ‘ 40 ‘250‘ 50 ‘ TN.. 2706.. APL-05 ALV-05-M10x27 07042701 AAY-04 ACK-09 AKV-05-Méx15 AAL-05-4

1S

microbor




External Turning Tool Holders

m
L o
§e]
[¢]
L =
(0]
w7 e =
< 60° LF o
! -« xe
[¢]
T
Dimensions (mm) X Accessories
Order Numb Cutting
(L= NI =Elr HE=H B LF | WE Insert Clamp Lever Screw Shim Lock Clamp Clamp Screw Hex Key
B Lever Spring
S
S
4 £ & &
PTTNR/L 1616 H16 16 16 100 | 13
2020 K16 20 20 | 125 17
2525 M16 25 25 | 150 | 215 TN.. 1604.. APL-01 ALV-02-Mé6x17 | AATN-3-0025 AAY-01 AAL-02-2.5
3232 P16 32 32 | 170 31
2525M22C | 25 | 25 | 150 | 20.5
TN.. 2204.. APL-02 ALV-03-M8x19 | AATN-3-0015 AAY-02 ACK-05 4015-M4x11 AAL-03-3
3232 P22C 32 32 | 170 | 29 .~
L
T
w
= ©
95° =
< LF
Dimensions (mm) . Accessories
Order Number CUtio
HF=H B | LF  WF It Glenie Lever Screw Shim Lock Clamp Clamp Screw Hex Key
- Lever Spring
N
SORR N
‘ & &
PWLNR/L 1616 HO6 16 16 | 100 20
2020 K06 20 20 125 | 25
WN.. 0604.. APL-01 ALV-02-Méx17 | AAWN-SW317 AAY-01 - - AAL-02-2.5
2525 M06 25 25 150 | 32
3232 P06 32 32 170 | 40
1616 HO8 16 16 | 100 20 - -
2020 KO8C 20 20 125 | 25
WN.. 0804.. APL-02 ALV-03-M8x19 | AAWN-3-0001 AAY-02 AAL-03-3
2525 M08C 25 25 150 | 32 ACK-05 4015-M4xT1
3232 PO8C 32 32 | 170 | 40

microbop ¢




External Turning Tool Holders

T
©] .
gl
o
P _
o)
1S @ \Z
30max
()] Y
£
k) LF 3
o
I
Dimensions (mm) X Accessories
Order Number Cutting f ;
HFE=H B F | WF Insert Clamp Clamp Screw Shim Shim Screw Spring Washer Hex Key
CKJNR/L2020K16 | 20 | 20 | 125 | 275
2525M16 | 25 25 | 150 @315 ACK-01-R AKS-16-R
KNUX 1604.. AKV-06-Mé6x20 AAV-01-M3x10  AKY-02 ABPL-01 AAL-05-4
3232P16 | 32 | 32 | 170 @ 40 ACK-02-L AKS-16-L
4040816 | 40 | 40 | 250 S0
Lgl- m
|95° LF i
£
Dimensions (mm) it Accessories
utting
Order Number )
e TR Insert SlenE (;I;z\s Chip Breaker Shim Shim Screw Ring Hex Key
® 2 &S &S
CCLNR/L 2525 M09 | 25 25 | 150 32
CN.N 0903(04").. 26147 - ICSN-332* TS0 - 5004
3225P09 | 32 25 170 32
2525M12 | 25 25 | 150 32
CN.N 1204(03").. 2617 9414 ICSN-454" 1160 - 5004
3225P12 | 32 25 170 32
2525 M1207 | 25 25 | 150 32
CN.N 1207.. ACK-13 AKV-11-M8x29 - AACN-3-0001|AAV-02-M5x12 ACS-01 AAL-05-4
3232 P1207 | 32 32 170 | 40
2525M1607 | 25 | 25 | 150 | 32 | CNNT6OZ. ACK-13 | AKV-T1-M8x29 - AACN-3-0002/AAV-05-Méx15  ACS-01 | AAL-05-4

*Order shims for CN.N 0904.. and CN.N 1203.. separately
**Clamp complete with Clamp screw

17

microbor




External Turning Tool Holders

L
T II T O
— — °
[¢]
<
+—=
T o o
2 £
(0]
&= £
9% LF ! 5
! [e]
T
Dimensions (mm) it Accessories
Order Number I:s:tg
HF=H B LF | WF Clamp Clamp screw Shim Shim Screw Ring Hex Key
® g5 S o & DD
CDJNR/L2525M1107 | 25 | 25 | 150 | 32 | DN.NTIOZ. | ACK-22 | AKV-TI-M8x29 | AADN-2-0001 | AAV-04-M5x12  ACS-01 | AAL-05-4 |
255M1507 25 | 25 | 150 | 32
DN.N 1507. ACK-13 | AKV-T1-M8x29 | AADN-3-0001 | AAV-02-M5x12 |  ACS-O1 AAL-05-4
3232P1507 | 32 | 32 10 40
[V - -
w —
’ J
m
40
62,5 LF \ >
I 1
Dimensions (mm) i Accessories
Order Number I:se"r]tg .
HF=H B LF = WF Clamp Clamp Screw Shim Shim Screw Ring Hex Key
® 3T LS 9 &N D
CDNNN2525M1107 | 25 | 25 | 150 125  DNNTIOZ. | ACK-22 | AKV-T-M8x29 | AADN-2-0001 |AAV-04-M5x12  ACS-01 |  AAL-05-4 |

microor



External Turning Tool Holders

120°
0 CRDCN

) O'i T E - _

ge]

o

<

+—

[0] w

£ =]

[0)) [an]

<

5 o ¥4
e} LF

T

Dimensions (mm) Gt Accessories
Order Number Igzzptg
HF=H B LF LU WF Clamp Clamp Screw Shim Shim Screw Hex Key
<% &)
CRDCN 2525 MO6A 25 25 150 19 12.5
3225 POSA 32 25 170 19 12.5 RCGX 060600 ACK-27 2525-M3x14 AARC-3-0001 3007-M2.2x5 AAL-02-2.5

4040 SO6A 40 40 250 9 20

2525 MO9A 25 25 150 29 125
3225 PO9A 32 25 170 29 125 | RCGX 090700 ACK-28 2504-M5x16 AARC-3-0002 3008-M2.5x6 AAL-05-4
4040 SO9A 40 40 250 29 20

2525 M12A 25 25 150 38 125
3225 P12A 32 25 170 38 125 RCGX 120700 ACK-29 2505-Méx20 AARC-3-0003 3008-M2.5x6 AAL-07-5
4040 S12A 40 40 250 38 20

120° CRDCR
- S
" LU
= @
B LF B.V:4
Dimensions (mm) i Accessories
Order Number Clﬁ';t:tg
HF=H B LF LU | WF Clamp Clamp Screw Shim Shim Screw Hex Key
y & @ ¢ 2
9 &
| CRDCR/L3225POGA 32 25 TIO | 194 | 256 | RCGX060600 | ACK-27 2525-M3x14  AARC-3-0001 | 3007-M22x5 | AAL-02-25
\ 3225P09A | 32 | 25 | 170 | 29 | 258 RCGXO090700 = ACK-28 | 2504-MSx16 | AARC-3-0002 | 3008-M25x6 | AAL-05-4
\ 3225P12A | 32 | 25 | 1770 | 385 259  RCOX120700  ACK-29 | 2505-M6x20 | AARC-3-0003 | 3008-M25x6 | AAL-07-5

; microbor



External Turning Tool Holders

v O
LU O
I _8
W -
=k | 32
mr @ £
= (0]
< £
LF o
o [e]
T
Dimensions (mm) Cutii Accessories
utting
Order Number q
. Insert Clamp Chip Shi " .
HF=H B LF LU | WF Clamp o Berien im Shim Screw Ring Hex Key
@ 2T SO 0O &)L
CRDNN2525M06 | 25 | 25 | 150 | 32 | 125  RN.NO6O30O | 2604 | m8s | - | - | - | - | 'soo4 |
2525M09 | 25 25 | 150 | 32 | 125
RN.N 0903(04°)00 214 - IRSN-33* 1150 - 5004
3225P09 32 | 25 | 1770 | 32 | 125
2525M12 | 25 25 | 150 | 32 | 125
RN.N 1204(03")00 217" o614 IRSN-45* 60 - 5004
325P12| 32 25 170 32 | 125
4040519 | 40 | 40 | 250 | 40 | 20 | RN.N190700 | 27" 941 3919 82 - 5004

*Order shims for RN.N 090400 and RN.N 120300 separately
**Clamp complete with Clamp screw

HF
T
"]

WF
e

LF
Dimensions (mm) i Accessories
utting
Order Number .
_ Insert Clamp Chip . . .
HF=H B LF | WF Clamp Screw Breaker Shim Shim Screw Ring Hex Key
® & &L & e ¢ ) D
|CRSNR/L2525M06 25 | 25 | 150 | 32 | RN.NO60300 | 2604 |  mes | - | - | - | - | so04 |
2525M09 25 | 25 | 150 | 32
RN.N 0903(04*)00 2614 - IRSN-33* 150 - 5004

3225P09 | 32 25 | 170 | 32

2525 M12 | 25 25 | 150 32
3225P12 | 32 25 170 32 | RN.N 1204(03%)00 2617 9414 IRSN-45* 1160 - 5004
CRSNR 3232P12 | 32 32 170 | 40

CRSNR 3232 P19 | 32 32 | 170 | 40
CRSNR 4040 819 | 40 40 | 250 @ S0 RN.N 190700 2617 9414 3919 182 - 5004
CRSNR 4040 V19 | 40 40 | 400 50

*Order shims for RN.N 090400 and RN.N 120300 separately
**Clamp complete with Clamp screw

microor =




External Turning Tool Holders

45° CSDNN
w
ge] T I
[¢]
<
)
£ =3 N
m
(o))
£
2 45° LF <~
O I 1
T
Dimensions (mm) i Accessories
utting
Order Number
HF=H B | LF & WF == Clamp (S:lc:qr:\s Chip Breaker Shim Shim Screw Ring Hex Key
® 2 LS8 ¢S
CSDNN 2525 M09 | 25 25 150 | 12,5
SN.N 0903(04°).. 2614 - ISSN-333* 150 - 5004
3225P09 | 32 25 170 | 12,5
2525M12 | 25 25 150 | 12,5
SN.N 1204(03").. 2417 9414 ISSN-454* 160 - 5004
3225P12 | 32 25 170 | 12,5
2525M1207 | 25 25 150 | 12.5
SN.N 1207. ACK-13 AKV-11-M8x29 - AASN-3-0004 AAV-02-M5x12 ACS-01 AAL-05-4
3232 P1207 | 32 32 170 16

*Order shims for SN.N 0904.. and SN.N 1203.. separately
**Clamp complete with Clamp screw

W I R
T T
§ om
75
Y
S LF t
T 1
Dimensions (mm) Qi Accessories
Order Number i: I:tg . X
HF=H B | LF @ WF se Clamp Clamp Screw Shim Shim Screw Ring Hex Key
CSKNR/L 2525 M1207 25 25 150 32
SN.N 1207.. ACK-13 AKV-11-M8x29 AASN-3-0004 | AAV-02-M5x12 ACS-01 AAL-05-4
3232 P1207 32 32 170 40

2 microbor



External Turning Tool Holders

O
[
T T No]
[¢]
<
=
w (V]
= @ S
(0]
£
-~ O
78 LF ‘ 5
T
Dimensions (mm) — Accessories
utting
Order Number .
HF=H B | LF  WF pset Clamp %'C"r':v‘: Chip Breaker Shim Shim Screw Ring Hex Key
CSRNR/L 2525 M09 | 25 25 150 32
SN.N 0903(04).. 2264 - ISSN-333* 150 - 5004
3225P09 @ 32 25 170 32
2525M12 | 25 25 150 32
3225P12 | 32 25 170 32 SN.N 1204(03").. 2617 Q414 ISSN-454* 160 - 5004
3232P12 | 32 32 170 40
CSRNR/L 2525 M1207| 25 25 150 32
SN.N 1207.. ACK-13 AKV-11-M8x29 - AASN-3-0004 AAV-02-M5x12! ACS-01 AAL-05-4
3232P1207, 32 32 170 40

*Order shims for SN.N 0904.. and SN.N 1203.. separately
**Clamp complete with Clamp screw

& microbop =



External Turning Tool Holders

m
0 n < —
ge]
(o] y
<
=)
(é’ w
2
2 <4 LF A
T
Dimensions (mm) s Accessories
utting
Order Number .
HF=H| B LF WF ==l Clamp %lccrr:vr‘; Chip Breaker Shim Shim Screw Ring Hex Key
| CssNR2525M09 | 25 | 25 | 150 | 32 | SN.N 0903(04Y). | 26 | - | issN-333 | mso | - | 004
CSSNR/L2525M12 | 25 25 | 150 32
SN.N 1204(03*).. 267 Q414 ISSN-454* 160 - 5004
3225P12 | 32 25 170 32
CSSNR/L 2525 M1207| 25 25 150 32
SN.N 1207.. ACK-13 AKV-11-M8x29 - AASN-3-0004 AAV-02-M5x12 ACS-01 AAL-05-4
3232 P1207, 32 32 170 40
*Order shims for SN.N 0904.. and SN.N 1203.. separately
**Clamp complete with Clamp screw
m

93°

HF

WF
-

SRR . I

93° LF 3

I
Dimensions (mm) A Accessories
utting
Order Number )
HF=H B LF | WF Insert Clamp Clamp Shim Shim Screw Ring Hex Key
Screw

CTJNR/L 2525 M1607 25 25 150 32
TN.N 1607.. ACK-14 AKV-11-M8x29 AATN-2-0002 | AAV-03-M5x12 ACS-01 AAL-05-4

3232 P1607 32 32 170 40

23

microbor




External Turning Tool Holders

T
T T -—— -
Ee)
o
=
(0]

[T
= j 5
q: o
£
95° e
l< LF :%

Dimensions (mm) it Accessories
Order Number irl:selgg Clamp Shim Shim Screw Locking
HF=H| B LF | WF Clamp T — Ring Washer Hex Key

& = o B & O 0 B

TCLNR/L 2020 K12 20 20 | 125 | 25
2525 M12 25 25 | 150 | 32
3232 P12 32 32 | 170 | 40 CN..1204.. ATK-02 AKV-30-M6x22 | AACN -3-0001 | AAV-02-M5x12 AS-01 ABPL-01 AAL-03-3
4040 S12 40 | 40 | 250 | 50
5050 S12 50 50 | 250 | 63

2525 M16 25 25 | 150 | 32
3232 P16 32 32 | 170 | 40

CN..1606.. ATK-04 AKV-19-M7x25 | AACN-3-0002 | AAV-05-Méx15 AS-02 ABPL-02 AAL-05-4

S — |TDJNR

HF
H

g &

§ m

: !

o

93 LF
Dimensions (mm) . Accessories
Order Number CUting | e
= Insert Clamp Shim Shim Screw ocking
HF=H B LF | WF Clamp Screw R Washer Hex Key
TDJNR/L 1616 H1 16 16 100 | 20

2020 K11 20 20 125 25 DN.. 1104.. ATK-01 AKV-01-M5x22 | AADN-2-0001 | AAV-04-M5x12 - ABPL-01 AAL-03-3

2525 M1 25 25 | 150 | 32

2020 K15 20 20 125 25
2525 M15 25 25 | 150 | 32
3232 P15 32 32 | 170 | 40 DN.. 1506.. ATK-02 AKV-30-M6x22 | AADN-3-0001 | AAV-02-M5x12 AS-01 ABPL-01 AAL-03-3
4040 S15 40 | 40 | 250 | SO
5050 S15 50 50 | 250 @ 63

2020 K1504 20 20 | 125 | 25
2525 M1504 25 25 | 150 | 32
3232 P1504 32 32 | 170 | 40
4040 S1504 40 | 40 | 250 | 50

DN.. 1504.. ATK-02 AKV-30-M6x22 | AADN-2-0003 | AAV-02-M5x12 AS-01 ABPL-01 AAL-03-3

microbop =




-
O
o
<
+—
(V]
1S
(o)
i=
i)
o
T

External Turning Tool Holders

HF

L

m

w -
2} o
<>
< 45° LF \
Dimensions (mm) X Accessories
Order Number SHE e
HF=H B LE | WF Insert Clamp Clamp Screw Shim Shim Screw Or;;;ng Washer Ky
TSDNN 1616 H12 16 16 100 8
2020 K12 20 20 | 125 10
SN.. 1204.. ATK-02 AKV-30-M6x22 | AASN-3-0004 | AAV-02-M5x12 AS-01 ABPL-01 AAL-03-3
2525 M12 25 25 | 150 125
3232 P12 32 32 170 16
2525 M15 25 25 | 150 125
3232 P15 32 32 170 16 SN..1506.. ATK-04 AKV-19-M7x25 | AASN-3-0023 | AAV-05-Mé6x15 AS-02 ABPL-02 AAL-05-4
4040 S15 40 40 | 250 | 20
% I II 7 ]
: edl i
l« z} LF
Dimensions (mm) . Accessories
Order Number CUGIE el
. Insert Clamp 5 S Serem ocking
HF=H B LF | WF Clamp Screw Shim Ring Washer Hex Key
TSSNR/L 2020 K12 20 20 | 125 25
2525 M12 25 25 | 150 32 SN.. 1204.. ATK-02 AKV-30-Méx22 | AASN-3-0004 | AAV-02-M5x12 AS-01 ABPL-01 AAL-03-3
3232 P12 32 32 170 | 40
2525 M15 25 25 | 150 32
SN.. 1506.. ATK-04 AKV-19-M7x25 | AASN-3-0023 | AAV-05-Méx15 AS-02 ABPL-02 AAL-05-4
3232 P15 32 32 170 | 40

25

Grobop




External Turning Tool Holders

-
Ee)
o
<
=]
s . £
(@)
3 £
60° | T
I~ —
LF N 0
T
Dimensions (mm) . Accessories
Order Number S
. Insert Clamp Shim Shim Screw | Locking
HF=H| B LF | WF Clamp S~ Ring Washer Hex Key
TTENN 2020 K16 20 20 125 10
2525 M16 25 25 150 | 12,5 TN.. 1604.. ATK-01 AKV-01-M5x22 | AATN-2-0002 = AAV-03-M5x12 - ABPL-01 AAL-03-3
3232 P16 32 32 170 16
2525 M22 25 25 150 | 12,5
3232 P22 32 32 170 16 TN.. 2204.. ATK-02 AKV-30-Mé6x22 = AATN-3-0015 | AAV-02-M5x12 AS-01 ABPL-01 AAL-03-3
4040 S22 40 40 | 250 @ 20

T II
5 ‘I'I
A
93°
< LF
Dimensions (mm) . Accessories
Order Number Cutting
. Insert Clamp Shim Shim Screw Locking
HF=H B LF | WF Clamp Screw Ring Washer Hex Key
TTINR/L 2020 K16 20 20 125 25
2525 M16 25 25 | 150 | 32 TN.. 1604.. ATK-01 AKV-01-M5x22 | AATN-2-0002 | AAV-03-M5x12 - ABPL-01 AAL-03-3
3232 P16 32 32 | 170 | 40
2525 M22 25 25 | 150 | 32
3232 P22 32 32 | 170 | 40 TN.. 2204.. ATK-02 AKV-30-M6x22 | AATN-3-0015 | AAV-02-M5x12 AS-01 ABPL-01 AAL-03-3
4040 S22 40 40 | 250 | 50

microbop =




-
O
[¢]
<
+
o
1S
(o))
£
o
[e]
I

External Turning Tool Holders

.

S m o
B 50°max|
A :ﬁv
93°
< LF
Dimensions (mm) i Accessories
utting
Order Number :
_ Insert Clamp . . Locking
HF=H B LF | WF Clamp Screw Shim Shim Screw R Washer Hex Key
TVJNR/L 2020 K16 20 20 125 25
2525 M16 25 25 | 150 32 VN.. 1604.. ATK-03 AKV-30-Mé6x22 | AAVN-2-0002 | AAV-04-M5x12 AS-01 ABPL-01 AAL-03-3
3232 P16 32 32 170 | 40
72.5° TVVNN
; i Y 70°max|
j
° XM,
L 725 LF |
Dimensions (mm) i Accessories
utting
Order Number :
_ Insert Clamp . . Locking
HF=H| B LF = WF Clamp Screw Shim Shim Screw Ring Washer Hex Key
- R P = & O e
TVVNN 2020 K16 20 20 125 10
2525 M16 25 25 150 | 12,5 VN..1604.. ATK-03 AKV-30-M6x22 | AAVN-2-0002 | AAV-04-M5x12 AS-01 ABPL-01 AAL-03-3
3232 P16 32 32 170 16

27

& microbor



External Turning Tool Holders

R
T T —— —
Ee)
o
i
@
5 @ £
— (o))
i o £
95 I <{ o
< =
; o
T

Dimensions (mm) i Accessories
utting
Order Number :
_ Insert Clamp . . Locking
HF=H B LF | WF Clamp Screw Shim Shim Screw i Washer Hex Key
TWLNR/L 1616 HO6 16 16 100 | 20
2020 K06 20 20 125 75 WN.. 0604.. ATK-01 AKV-01-M5x22 | AAWN-SW317 | AAV-01-M3x10 - ABPL-01 AAL-03-3

2525 M0é 25 25 | 150 | 32

2020 K08 20 20 | 125 25
2525 M08 25 25 | 150 | 32
3232 P08 32 32 | 1770 | 40 | WN..0804.. ATK-02 AKV-30-M6x22 | AAWN-3-0001 | AAV-02-M5x12 AS-01 ABPL-01 AAL-03-3
4040 S08 40 | 40 | 250 | SO
5050 S08 50 50 | 250 | 63

& microbor =



b
o]
o]
<
=
9]
1S
o
c

External Turning Tool Holders

T T
=l
[a1]
60°
LF p.4
Dimensions (mm) i Accessories
utting
Order Number .
_ Insert Clamp . q Locking
HF=H| B LF | WF Clamp e Shim Lock Pin R Washer Hex Key
d® ¢ & £ O o
MTENN 2020 K16 20 20 125 10
2525 M16 25 25 | 150 | 12,5 TN.. 1604.. AMK-04 AKV-30-Mé6x22 | AATN-2-0002 APM-01 AS-01 ABPL-01 AAL-03-3
3232 P16 32 32 170 16
2525 M22 25 25 | 150 | 12,5
3232 P22 32 32 170 16 TN.. 2204.. AMK-08 AKV-30-Mé6x22 | AATN-3-0015 APM-02 AS-01 ABPL-01 AAL-03-3
4040 S22 40 40 | 250 | 20
I z| |MTJNR
§ m
A
93° :ﬁ
LF
Dimensions (mm) Qi Accessories
utting
Order Number q
_ Insert Clamp . " Locking
HF=H| B LF WF Clamp T Shim Lock Pin Ring Washer Hex Key
de® & & F O e
MTJNR/L 2020 K16 20 20 125 25
2525 M16 25 25 150 32 TN.. 1604.. AMK-04 AKV-30-Méx22 | AATN-2-0002 APM-01 AS-01 ABPL-01 AAL-03-3
3232 P16 32 32 170 | 40
2525 M22 25 25 150 32
3232 P22 32 32 170 | 40 TN.. 2204.. AMK-08 AKV-30-Méx22 | AATN-3-0015 APM-02 AS-01 ABPL-01 AAL-03-3
4040 S22 40 40 | 250 | 50

29

Grobop




External Turning Tool Holders

b3

Ee)]

o

=

: - g

A (&)

957 = £

LF o]

i o

. . I

Dimensions (mm) s Accessories
utting
Order Number :
. Insert Clamp . locklRin Locking
HF=H B LF | WF Clamp Screw Shim a Ring Washer Hex Key
4 =@ ¢ F 0O -~
MWLNR/L 1616 HO6 16 16 100 | 20
2020 K06 20 20 125 25 WN.. 0604.. AMK-01 AKV-04-M5x17 - APM-08 - - AAL-03-3
2525 M06 25 25 150 32
2020 K08 20 20 | 125 | 25
2525 M08 25 25 150 32 WN.. 0804.. AMK-05 AKV-30-M6x22 | AAWN-3-0001 APM-02 AS-01 ABPL-01 AAL-03-3

3232 P08 32 32 170 40

MWMNN
ETW ! N

st o

50°
<
LF 4
Dimensions (mm) . Accessories
Order Number CIEHE
_ Insert Clamp . . Locking
HF=H B LF = WF Clamp Screw Shim Lock Pin Bl Washer Hex Key
MWMNN 1616 HOé 16 16 100 8
2020 K06 20 20 125 10 WN.. 0604.. AMK-01 AKV-04-M5x17 - APM-08 - - AAL-03-3
2525 M06 25 25 | 150 | 12,5
2020K08 | 20 | 20 | 125 @ 10
2525 M08 25 25 | 150 | 12,5 = WN..0804.. AMK-05 AKV-30-Méx22 | AAWN-3-0001 APM-02 AS-01 ABPL-01 AAL-03-3
3232 P08 32 32 170 16

microop =




(%]
o
o
<
=
[0]
1S
(o))
£
o
o
T

External Turning Tool Holders

w
T T
§L @
x
90° LF
Dimensions (mm) . Accessories
Order Number Cluttlr:tg . -
HF=H B LF | WF DS Screw Shim Shim Screw TORX Key
% 12J
¢ 5S
& & G N A
SCACR/L 0808 E06 08 08 70 10
/ CC.. 0602.. 4008-M2.5x6 - - 80-T08
1010 EO6 10 10 70 12
1212 FO9 12 12 80 16 4015-M3.5x11 - -
1616 HO9 16 16 100 20 CC.. 09T3.. 80-T15
4015-M3.5x14 AACN-2-0001 AAV-06-M3.5x11
2020 K09 20 20 125 25
2020 K12 20 20 125 25
CC..1204.. 1020-M4.5x16 AACN-2-0003 AAV-07-M4.5x13 80-T20
2525 M12 25 25 150 32
[a1]
[ . g
@ )
; 3
©)
40
.95 LF 4_¢
Dimensions (mm) . Accessories
Order Number Cluttu:tg . .
HF=H B LF | WF =C Screw Shim Shim Screw TORX Key
D <
(@) O s
SCLCR/L 0808 E06 08 08 70 10
1010 EO6 10 10 70 12 CC.. 0602.. 4008-M2.5x6 - - 80-T08
1212 FO6 12 12 80 16
1010 EO9 10 10 70 12 4015-M3x9 - -
1212 FO9 12 12 80 16 4015-M3.5x11 . -
1616 HO9 16 16 100 20 CC.. 09T3.. 80-T15
2020 K09 20 20 125 25 4015-M3.5x14 AACN-2-0001 AAV-06-M3.5x11
2525 M09 25 25 150 32
1616 H12 16 16 100 20 1020-M5x11 - -
202012 20 20 125 25 CC.. 1204. 1020-M4.5x16 AACN-2-0003 AAV-07-M4.5x13 80-120
2525 M12 25 25 150 32

s @ Mmicrobo

¥




External Turning Tool Holders

w SDHCR
T T
; m 15°max
O gy
107,5°
LF 45
Dimensions (mm) ) Accessories
Order Number Cl:ttl:tg . .
HF=H B LF | WF == Screw Shim Shim Screw TORX Key
Q P
S 3
QS ¢ & ¢ A0
SDHCR/L 0808 EO7 08 08 70 n
1010 EO7 10 10 70 12
1212 FO7 12 12 80 16 DC.. 0702.. 4008-M2.5x6 - - 80-TO8
1616 HO7 16 16 100 20
1616 H1 16 16 100 20
2020 K1 20 20 125 25
DC.. 11T3.. 4015-M3.5x14 AADN-2-0001 AAV-06-M3.5x11 80-T15
2525 M1 25 25 150 32
3232 P11 32 32 170 40
= B
A 27°max
o
L% LF 3
Dimensions (mm) . Accessories
Order Number Cluttlr:tg
HF=H B LF | WF Dee Screw Shim Shim Screw TORX Key
&7 S S
SDJCR/L 0808 EO7 08 08 70 10
1010 EO7 10 10 70 12
1212 FO7 12 12 80 16 DC.. 0702.. 4008-M2.5x6 - - 80-T08
1616 HO7 16 16 100 20
1616 H11 16 16 100 20
2020 KT 20 20 125 25
DC.. 1T3.. 4015-M3.5x14 AADN-2-0001 AAV-06-M3.5x11 80-T15
2525 M1 25 25 150 32
3232 P11 32 32 170 40

& microbor =

(%2]
O
[¢]
c
e
[V]
S
(o))
=
i)
[¢]
a5




External Turning Tool Holders

62,5

(7p)
3
w
£ $ -
£
o) R
£
L) LF
o
T
Dimensions (mm) ) Accessories
Order Number Cl:ttl:tg . .
HF=H B LF | WF e Screw Shim Shim Screw TORX Key
Q g
Y & 5
SDNCN 0808 E07 08 08 70 4
1010 EO7 10 10 70 5
T 2 | 80 o DC.. 0702.. 4008-M2.5x6 - - 80-T08
1616 HO7 16 16 100 8
1616 HT1 16 16 100 8
2020 20 29 25 10 DC.. 11T3.. 4015-M3.5x14 AADN-2-0001 AAV-06-M3.5x11 80-T15
2525 M1 25 25 150 12.5
3232 P11 32 32 170 16

: microbor



External Turning Tool Holders

L
T T
w
= ©
&[®) m =
LU :
LF | b4
Dimensions (mm) X Accessories
Order Number Cutting
HF=H B LF LU WF Insert Screw Shim Shim Screw Clamp Clamp Screw TORX Key
Q ¢
©) & 2
o & S A
SRDCN 1616 HO6 16 16 100 15 8
2020 K06 20 20 125 17 10 RC.. 0602.. 3008-M2.5x6 - - - -
2525 M06 25 25 | 150 17 12.5
80-T08
1616 HO8C 16 16 100 15 8
2020 KosC 20 20 125 20 10 RC.. 0803.. 3008-M3x8 - -
2525 M08C 25 25 150 20 12.5
16I6HIOC | 16 | 16 | 100 20 8 ACKSS | 4GTS-M3SKTT
2020 K10C 20 20 125 20 10 _ _
2525MI0C | 25 | 25 | 150 205 | 125 =~ RC.10T3.  4015-M3.5M
3232 P10C 32 32 170 20 16 80-TI5
2020 K12C 20 20 125 22 10
2525 M12C 25 25 150 22 125 RC..1204.. 4015-M3.5x11 - -
2RZ}PRC | R 2 | 0 2 16 ACK-05 LO15-MéxT]
2525 M16C 25 25 150 32 12.5
RC..1605.. 1020-M5x11 - -
3232 P16C 32 32 170 85 16
2525 M20C 25 25 150 32 12.5 80-T20
3232p20C | 32 | 32 W0 40 | 16 | Re-2006.  1420-Mexi6
- - ACK-09 AAV-05-M6x15
3232 P25C 32 32 170 40 16 RC.. 2507.. 1520-Méx16
3232 P32C 32 32 170 45 16 RC.. 3209. | 1904-M8x1x20 AAL-05-4
| |

(%2]
O
o
c
e
[V]
S
(o))
=
i)
(0]
a5




External Turning Tool Holders

o
45 SSDCN
w
T T
wn B o
3
w
Q ©)
1S ;
() >
= 45° LF
© <>
o
T
‘ Dimensions (mm) X Accessories
Order Number | Cluttl:mtg . 4
‘ HF=H B LF WEF nse Screw Shim Shim Screw TORX Key
QD ¢
(@) O 2
SSDCN 1212 FO9 12 12 80 6 4015-M3.5x11 - -
1616 HO9 16 16 100 8 SC.. 09T3.. 80-T15
4015-M3.5x14 AASN-2-0001 AAV-06-M3.5x11
2020 K09 20 20 125 10
1616 H12 16 16 100 8 4020-M4.5x12 AAV-10-M4.5x8
2020 K12 20 20 125 10 SC..1204.. AASN-2-0004 80-T20
1020-M4.5x16 AAV-07-M4.5x13
2525 M12 25 25 150 12.5
I-;I- ﬂ
©
4?’ LF \
Dimensions (mm) i Accessories
Order Number Iu ":tg )
HF=H B LF WEF nsel Screw Shim Shim Screw TORX Key
Q g
(=) & 2
0 & — \&&\ / N
SSSCR/L 1212 FO9 12 12 80 16 4015-M3.5x11 - -
1616 HO9 16 16 100 20 .. 09T3.. 80-T15
SC.. 0973 4015-M3.5x14 AASN-2-0001 AAV-06-M3.5x11
2020 K09 20 20 125 25
1616 H12 16 16 100 20 4020-M4.5x12 AAV-10-M4.5x8
2020 K12 20 20 125 25 SC..1204.. AASN-2-0004 80-T20
1020-M4.5x16 AAV-07-M4.5x13
2525 M12 25 25 150 32

= ¢ Microbor




External Turning Tool Holders

90° STFCR
T T
L om ©,
; s j
90r|E
LF
Dimensions (mm) c Accessories
utting
Order Numb
raer umber HF=H B LF | WF Insert Screw Shim Shim Screw TORX Key
Q 2}
SO\ S 5O
4 ¢ RS A
STFCR/L 0808 EO9 08 08 70 10
/ TC.. 0902.. 3007-M2.2x5 - - 80-TO7
1010 EQ9 10 10 70 12
1212 F1 12 12 80 16
TC..102.. 4008-M2.5x6 - - 80-T08
1616 HT11 16 16 100 20
1616 H16 16 16 100 20
20 20 125 25
2020K16 TC.. 16T3.. 4015-M3.5x14 AATN-2-0001 AAV-06-M3.5x11 80-T15
2525 M16 25 25 150 32
3232 P16 32 32 170 40
©
93%
LF w
Dimensions (mm) . Accessories
Order Number Cliiding .
HF=H B LE WE Insert Screw Shim Shim Screw TORX Key
Q 2
O\ S 5O
‘ & § A
STJCR/L 0808 EO9 08 08 70 10
/ TC.. 0902.. 3007-M2.2x5 - - 80-T07
1010 EO9 10 10 70 12
1212 F11 12 12 80 16
TC.. 102.. 4008-M2.5x6 - - 80-T08
1616 H11 16 16 100 20
1616 H16 16 16 100 20
20 20 125 25
2020]K16 TC.. 16T3.. 4015-M3.5x14 AATN-2-0001 AAV-06-M3.5x11 80-T15
2525 M16 25 25 150 32
3232 P16 32 32 170 40

&= microbor

36

(%2]
O
o
c
e
V]
S
(o))
=
i)
(0]
a5




(%]
o
o
<
=
[0]
1S
(o))
£
o
o
T

External Turning Tool Holders

107,5° !
[ T T
§ m
107,5°
LF
Dimensions (mm) Accessories
Cutting
Order Numb:
raer Rumboer HF= B LF WF Insert Screw. Shim Shim Screw TORX Key
=
o~ S 5S
S ¢ == ¢ _<
SVHBR/L 1212 F11 12 12 80 16
1616 H11 16 16 100 20 VB.. 1103.. 4008-M2.5x6 - - 80-T08
2020 K11 20 20 125 25
2020 K16 20 20 125 25
2525 M16 25 25 150 32 VB.. 1604.. 4015-M3.5x14 AAVN-2-0002 AAV-06-M3.5x11 80-T15
3232 P16 32 32 170 40
T T
";" m
LF %
Dimensions (mm) Accessories
Cutting
Order Numb:
reer fumier HF=H B LF | WF Insert Screw Shim Shim Screw TORX Key
Q 2
- O 2
SVHCR/L 1212 F1 12 12 80 16
1616 HT1 16 16 100 20 VC..1103.. 4008-M2.5x6 - - 80-T08
2020 K1 20 20 125 25
2020 K16 20 20 125 25
2525 M16 25 25 150 32 VC..1604.. 4015-M3.5x14 AAVN-2-0002 AAV-06-M3.5x11 80-T15
3232 P16 32 32 170 40

5 6 Microbor




External Turning Tool Holders

= T
§ m
©)
73 LF
Dimensions (mm) Accessories
Cutting
Order Number
HF=H B LF WF Insert Screw Shim Shim Screw TORX Key
12)
o~ S 5O
SVJBR/L 1212 F11 12 12 80 16
1616 H11 16 16 100 20 VB.. 1103.. 4008-M2.5x6 - - 80-T08
2020 KT 20 20 125 25
1616 H16 16 16 100 20
2020 K16 20 20 125 25
VB.. 1604.. 4015-M3.5x14 AAVN-2-0002 AAV-06-M3.5x11 80-T15
2525 M16 25 25 150 32
3232 P16 32 32 170 40
L
T
s
©
B
93
LF
Dimensions (mm) Accessories
Cutting
Order Numb:
raerumber HE=H B LF | WE Insert Serew Shim Shim Screw TORX Key
2
o~ S S
S ¢ == ¢ P
SVJCR/L1212 F1 12 12 80 16
16 16 100 20
1616 HII VC.. 1103.. 4008-M2.5x6 - - 80-T08
2020 KT 20 20 125 25
2525 M1 25 25 150 32
1212 F16 12 12 80 16 4015-M3.5x11 - -
2020 K16 20 20 125 25
VC..1604.. 80-T15
2525 M16 25 25 150 32 4015-M3.5x14 AAVN-2-0002 AAV-06-M3.5x11
3232 P16 32 32 170 40

& microbor =

(%2]
O
[¢]
c
=
[V]
S
(o))
1=
i)
(0]
S[=




(%]
o
o
<
=
[0]
1S
(o))
£
o
o
T

External Turning Tool Holders

72,5°

[as]

[T
T
w
2! oo I
max
72,5°
LF VA
Dimensions (mm) Accessories
Cutting
Order Number o
HF=H B LF | WF Igsert Screw Shim Shim Screw TORX Key
12)
o~ S 5O
S ¢ = & S
SVVBN 1212 F11 12 12 80 06
1616 H11 16 16 100 08 VB.. 1103.. 4008-M2.5x6 - - 80-T08
2020 K11 20 20 125 10
2020 K16 20 20 125 10
2525 M16 25 25 150 125 VB.. 1604.. 4015-M3.5x14 AAVN-2-0002 AAV-06-M3.5x11 80-T15
3232 P16 32 32 170 16
=1
©) [a1]
2
72,5°
LF 1,
Dimensions (mm) Accessories
Cutting
Order Number .
Y HF=H B LF WF Insert S Shim Shim Screw TORX Key
Q g
e O 3
SVVCN 1212 F1 12 12 80 06
1616 HT1 16 16 100 08 VC.. 1103.. 4008-M2.5x6 - - 80-T08
2020 K1 20 20 125 10
2020 K16 20 20 125 10
2525 M16 25 25 150 12.5 VC..1604.. 4015-M3.5x14 AAVN-2-0002 AAV-06-M3.5x11 80-T15
3232 P16 32 32 170 16

= @ Mmicrobo

¥




External Turning Tool Holders

LF
95° ‘ | SCLCR
w (%]
T T - o
o
<
=
£
w
s Gl 3
£
< S
[e]
T
Dimensions (mm) c Accessories
utting
Order Number
HF=H B LF | WF =il Screw Shim Shim Screw TORX Key

® ¢ g ¢ S

SCLCR/L 0808 X06S 08 08 15 08
1010 X06S 10 10 s 10
1212 GO6S 12 12 90 12
1212 X06S 12 12 130 12 CC.. 0602.. 4008-M2.5x6 - - 80-T08
1212 KO6S 12 12 125 12
1616 FO6S 16 16 75 16
1616 X06S 16 16 130 16

1212 GO9S 2 2 90 12
1212 X09S 2 12 130 12
1616 FO9S 16 16 75 16
1616 GO9S 16 16 90 16
1616 X09S 16 16 15 16
2020 X09s 20 20 120 20 m

CC.. 09T3.. 4015-M3.5x11 - - 80-T15

LF

HF
H

_WF
N

Dimensions (mm) Accessories
Cutting

HF=H B LF WF Insert Screw Shim Shim Screw TORX Key

Order Number

® ¢ g ¢ <

SDJCR/L 0808 X07S 08 08 15 08
1010 X07S 10 10 s 10

1212 GO7S 12 12 90 12

1212 X07S 12 12 130 12 DC.. 0702.. 4008-M2.5x6 - - 80-T08

1616 FO7S 16 16 75 16

1616 X078 16 16 130 16

2020 X07s 20 20 120 20

1212 G11S 12 12 90 12
1212 X118 12 12 130 12
1212 K11S 12 12 125 12
1616 F11S 16 16 75 16 DC.. 1IT3.. 4015-M3.5x11 - - 80-T15
1616 X11S 16 16 130 16
1616 K118 16 16 125 16
2020 X11S 20 20 120 20

microop




External Turning Tool Holders

| F | SVJBR
> ;
3 : | il
o
<
)
GE) —
L >
5 s Gl
C
ke} 9%
o
T
Dimensions (mm) . Accessories
Order Number e . .
HF=H B LF WF Insert Screw Shim Shim Screw TORX Key
Q <
S ¢ == ¢ P
\ SVUBR/LISIKTIS | 16 | 16 | 125 16 | VB.T03. 4008-M25¢6 - \ - \ 80-T08

LF

‘1
M|

WF
|
©
V)
B

Dimensions (mm) Accessories

Cutting

Sleler Nmioer HF=H B LF WE Insert Screw Shim Shim Screw TORX Key

<= & =57 & P

SVJCR/L 0808 X11S 08 08 1s 08
1010 K11S 10 10 125 10

1212 G1s 12 12 90 12

1212 KNS 12 12 125 12 VC..103.. 4008-M2.5x6 - - 80-T08

1616 F11S 16 16 75 16

1616 K11S 16 16 125 16

2020 K118 20 20 125 20

2 microbor



TURNING
TOOL
HOLDERS




Internal Tool Holder Identification System

SO0 0000 O

1. Holder Type

A - Steel, coolant-feed

C — Carbide shank
S - Solid steel

E — Carbide shank, coolant-feed

2. Shank Diameter
%

3. Tool Length (mm)

A-32 H-100 Q-180

B-40 J-110 R-200

C-50 K-125 S-250 IJI /7 I/ 1

D-60 L-140 T-300 X-special [ /L J

E-70 M-150 U-350 | LE J

F-80 N-160 V-400 N -

G-90 P-170 W-450

4. Holding Method
Clamp d”;ggfg'gfg};{, Pin/Clamp lock Pin/Wedge and Lever lock Screw-on
(@ T M P $

5. Insert Shape

® &

C D

® = @

H &

S w

& A

K T

6. Cutting Edge Angle

L F S X J
U K Q P ()

7. Entering Angle 8. Hand of Tool 9. Cutting Edge Length
< A B
5 7 |<—L>| |<—>L |
— p =
N Lo P
r + < DRI R P

10. Clamp

(&) additional
\“ clamp

43




Internal Turning Tool Holders

ﬁ Holding ﬁ Holding Holding
Method T Method M Method P
TCLNR/L p. 46 MCLNR/L p. 50 PDQNR/L p. 53
95° (o] 95° o] 107,5° Y. 4
CN.. CN.. S DN..
0903.. 1204.. m 1104..
1204.. / 1606.. [ 1504.. / 1506..
©25-50 ©20-50 320-50
TDQNR/L p. 46 MDUNR/L p. 50 PDXNR/L p. 53
107.5° o 95 Y4 N V4
DN.. DN.. DN..
104.. 104.. M 1506..
1506.. 1506.. 232-50
225-%0 020-50 PCLNR/L p. 54
TDUNR/L p. 47 MT-NR/L p. 51 95° o]
% o4 60° A CN..
DN.. — 0903.. / 1204..
1506.. Ve 2204.. 216-50
225-50 220-50 PDUNR/L p. 55
TSKNR/L p. 47 MTQNR/L p. 51 93 Y4
75° 107,5° 77— DN..
(o] A g N 1104..
SN.. ﬁ TN.. s S 1) 1506..
1204.. 1604.. 220-50
©25-40 2204..
TT-NR/L p. 48 220-50 PSKNR/L p. 56
60° A MTUNR/L p. 52 75° ]
93° SN..
1604. .. 1506..
025-32 E 1604.. ©25-50
2204..
7 A MWLNR/L  p.52 B A
.. o5 A = ..
1604.. B 71 1604..
2204.. ﬁ WN.. ©25-32
225-50 0604.. 5
TVUNR/L p. 49 2182[26 %OPTUNR/ L .o.A
7 L7 / —“l ..
VN.. 1604..
g@ 1604.. e —U 2204..
©25-40 16-50
TWLNR p. 49 PWLNR/L p. 58
95° A 95° A
WN. c | WN.
0604.. 0604..
0804.. s =4 0804..
225-50 220-50 Lts




Internal Turning Tool Holders

n‘;'tor']'gg . t Holding Method S
CCLNR/L p. 59 SCLCR/L p. 61 STUPR/L p. 68
95° ] 95° B s Y-\
r CN.N cc.. 5@ 11Top_%,'
[\ 0903(04).. 030102 -
A 1204003 ﬂ 0602.. 210-20
225-40 i SVJBR/L p- 68
CRSNR/L p. 59 006—[.;0 93 e g
= @ SDQCR/L  p-e2 ﬁ 1600
o, s o
0903(04%)00 ﬁ DC.. SVQBR/L p. 69
025-32 0702..
nT3.. 1075 P o
CSKNR/L p. 60 210-40 ﬁ VB..
g— ] SDUCR/L  p.63 2
@ ) oo, o
oL 1204(03").. ﬁ DC.. SVQCR/L p. 69
025-40 0702.. .
nT3.. 107.5 A7
210-50 ﬂ VC..
103..
SDXCR/L p. 64 1604..
o3° o 016-40
— SVUBR/L  p.70
0702.. 93° e g
1T3..
L gmR e
SSSCR/L p. 65 1604..
. 016-40
45 lo)
g1 . SVUCR/L p.70
M 09T3.. 9% e o
[ 1204.. VC..
216-40 E 0702..
ST-CR/L p. 66 o
60° A 216-40
@ TC. SVXBR/L  pTi
16T3.. 93 e o
012-40 VB..
STUCR/L  pé7 E Hos.
. 1604..
7 A 016-40
TC..
ﬁ 0902.. SVJCR/L p. 71
1102.. .
16T3.. 7 e
210-40 1Y§3
012-40

: microbor




Internal Turning Tool Holders

95°
Zt =z
o =
O =
[ [a)
LF
Dimensions (mm) i Accessories
utting
Order Number
bcoN H LF wr DM meert clams g'c"r:‘s Shim Shim Screw | Locking Ring | Washer Hex Key
& Q& 5 & O 5
S255-TCLNR/L09 | 25 | 23 |250 | 17 | 232 | CN.0903.  ATK-O1 | AKV-O1-M5x22 AACN-2-0001 AAV-09-MSx9 | - | ABPL-O1 | AAL-03-3 |
S25S-TCLNR/LT2 | 25 23 |250 | 17 | 232 AAV-13-M5x8 —
S32T-TCINR/LT2 | 32 | 30 300 22 240
/ CN.1204. | ATK-02  AKV-30-Méx22 | AACN -3-0001 AS-01 ABPL-O1  AAL-03-3 ]
SAOU-TCINR/L12 | 40 375 350 27 250 AAV-02-M5x12 el
SSOV-TCLNR/L12 | 50 47 400 35 | 263 e
S32T-TCLNR/L16 | 32 | 30 [300 22 | =40 E)
SAOU-TCLNR/L16 40 375 350 | 27 | 250 | CN.1606. | ATK-O4 | AKV-19-M7x25  AACN -3-0002  AAV-05-MéxIS — AS-02 ABPL-02 | AAL-05-4 e
SSOV-TCLNR/L16 | 50 47 1400 35 | 263 o]
o
I

107,5° TDQNR

=z Z’
[ | 3f z
)
[ [ oy ©
LF “1
Dimensions (mm) i Accessories
utting
Order Number
DCON| H | LF | WF DMIN [osert Clamp %I:r:\s Shim Shim Screw | Locking Ring. ~ Washer Hex Key
S25S-TDQNR/L 11 25 | 23 250 | 17 | 232 AAV-09-M5x9
DN.. 1104.. ATK-01 AKV-01-M5x22 | AADN-2-0001 - ABPL-01 AAL-03-3
S32T-TDQNR/L 11 32 | 30 300 22 | =240 AAV-04-M5x12
S25S-TDQNR/L 15 25 | 23 |250 | 17 | 232 AAV-13-M5x8
S32T-TDQNR/L 15 32 | 30 300 22 =40
DN.. 1506.. ATK-02 AKV-30-Méx22 | AADN-3-0001 AS-01 ABPL-01 AAL-03-3
S40U-TDQNR/L 15 40 | 375 350 27 | =50 AAV-02-M5x12
S50V-TDQNR/L 15 50 | 47 400| 35 | 263

microbop =




Internal Turning Tool Holders

pd Zii
3 =
()
J oy ©
LF
Dimensions (mm) i Accessories
utting
Order Number
Insert Clamp . Gasket . .
DCON| H | LF | WF [DMIN Clamp o Shim o Locking Ring| ~ Washer Hex Key
ViV - S 5
S25S-TDUNR/L T 25 | 23 |250 17 | 232 AAV-09-M5x9
DN.. 1104.. ATK-01 AKV-01-M5x22 | AADN-2-0001 - ABPL-01 AAL-03-3
S32T-TDUNR/L 11 32 | 30 |300| 22 =240 AAV-04-M5x12
-
Eo) S25S-TDUNR/L 15 25 | 23 1250 17 | =234 AAV-13-M5x8
(o] S32T-TDUNR/L 15 32 | 30 300 22 =40
c DN.. 1506.. ATK-02 AKV-30-Méx22 | AADN-3-0001 AS-01 ABPL-01 AAL-03-3
-ld; S40U-TDUNR/L 15 40 | 375 350 27 | =50 AAV-02-M5x12
E S50V-TDUNR/L 15 50 | 47 (400 35 | 263
(o))
£
Ke}
o]
T
| [z zﬁ
= Ol =
Q
[ lay O
\ LPR
Dimensions (mm) X Accessories
Order Number Clriiilig
Insert Gt Shim Gasket || ockingRing ~ Washer  HexKey
DCON| H | LF | WF [DMIN Clamp e —— - g Ring
@ S 8 & O -~
S25S-TSKNR/L 12 25 | 23 |250| 17 | 232 AAV-13-M5x8
S32T-TSKNR/L 12 32 | 30 (300 22 | =240 SN.. 1204.. ATK-02 AKV-30-M6x22 | AASN-3-0004 AAV-02-M5x12 AS-01 ABPL-01 AAL-03-3
-02-M5x
S40U-TSKNR/L 12 40 | 375350 27 | =50

a6 Microbor



Internal Turning Tool Holders

60°
| { | 2% =z
;Y ]
D ] la &
LPR
Dimensions (mm) i Accessories
utting
Order Number
DCON| H | LF A WF DMIN et Clamp glcqr:v‘: Shim Shim Screw | Locking Ring Washer Hex Key
S$25S-TT-NR/L 16 25 | 23 250 | 17 | 232
TN.. 1604.. ATK-01 AKV-01-M5x22 | AATN-2-0002 | AAV-03-M5x12 - ABPL-01 AAL-03-3
S32T-TT-NR/L 16 32 30 300 22 =40
-
§e]
[¢]
{=
=
£
J | 2% 2] (o)
@R\ , - E 2
N £l o3 d ] 1845 e}
‘/ Y (@]
ac
LF
Dimensions (mm) i Accessories
Cutting
Order Number [Ee— cl . .
DCON| H | LF A WF DMIN nse Clamp ch:]p Shim Shim Screw | Locking Ring Washer Hex Key
rew
S25S-TTUNR/L 16 25 | 23 250 17 | =232
TN.. 1604.. ATK-01 AKV-01-M5x22 | AATN-2-0002 | AAV-03-M5x12 - ABPL-01 AAL-03-3
S32T-TTUNR/L 16 32 | 30 300 22 =240
S25S-TTUNR/L 22 25 | 23 1250 17 | 232
S32T-TTUNR/L 22 32 | 30 300 22 | =40
TN.. 2204.. ATK-02 AKV-30-Méx22 | AATN-3-0015 | AAV-02-M5x12 AS-01 ABPL-01 AAL-03-3
S4OU-TTUNR/L22 = 40 | 375 350 27 | 250
S50V-TTUNR/L22 | 50 | 47 400 35 263

& microbop =



|_
O
o
g
=
[0}
S
(o))
£

Internal Turning Tool Holders

93°
zr z
Q
s o, 0
LF
Dimensions (mm) . Accessories
Order Number G
peoNl H |tk [ wE IDMIN Insert Sative glcclrenvrv) Shim Shim Screw Spring Washer Hex Key
S25S-TVUNR/L 16 25 | 23 250 | 20 | =36
S32T-TVUNR/L 16 32 | 30 300 22 | =240 VN.. 1604.. ATK-01 AKV-01-M5x22 | AAVN -2-0002 | AAV-04-M5x12 - ABPL-01 AAL-03-3
S4OU-TVUNR/L16 | 40 | 375350 27 | 250
&l z
Q| =
| oy 0O
LF
Dimensions (mm) i Accessories
Order Number I:m:cg Clam . .
DCON| H  LF  WF DMIN se Clamp P Shim Shim Screw | Locking Ring| ~ Washer Hex Key
a4 = & &6 & O ~
S25S-TWLNR/LO6 | 25 | 23 (250 | 17 | 232
WN.. 0604.. ATK-01 AKV-01-M5x22 | AAWN-SW317 | AAV-01-M3x10 - ABPL-01 AAL-03-3
S32T-TWLNR/L 06 32 | 30 300 22 =40
S25S-TWLNR/L 08 25 | 23 250 17 @ =232 AAV-13-M5x8
S32T-TWLNR/L 08 32 | 30 300 22 =40
S40U-TWLNR/LO8 | 40 | 375|350 27 =250 | WN..0804.. ATK-02 AKV-30-Mé6x22 | AAWN-3-0001 | AAV-02-M5x12 AS-01 ABPL-01 AAL-03-3
S50V-TWLNR/LO8 | 50 | 47 400| 35 263
A4OT-TWLNR/LO8 | 40 | 375 |300| 27 | 250
WN.. 0804.. ATK-02 AKV-30-M6x22 | AAWN-3-0001 | AAV-02-M5x12 AS-01 ABPL-01 AAL-03-3
AS0U-TWLNR/LO8 | 50 | 47 | 350 35 263

49

microbor




Internal Turning Tool Holders

95°

DCON
DMIN

— ]
1

Dimensions (mm) ~e Accessories
Order Number Iﬁse"rlcg Clamp
DCON| H | LPR | WF DMIN Clamp o — Shim Lock Pin Washer Hex Key
S20R-MCLNR/L12 | 20 1 18.3 200 13 | 225 AMK-07 - APM-12
S25S-MCLNR/L12 | 25 | 23 | 250 17 | 232 CN..1204.. AMK-03 AKV-04-M5x17 APM-13 - AAL-03-3
AACN-3-0001 s
S32T-MCLNR/L 12 32 | 30 300 | 22 | =240 AMK-03 APM-04
O
o
{=
=
£
3 o)
T 3 = —
=[ 937 | | 8y O (@]
Y i T
H LF
Dimensions (mm) @it Accessories
Order Number I:scel:tg Clamp
DCON| H | LF A WF DMIN Clamp e Shim Lock Pin Locking Ring|  Washer Hex Key
S D QS g F O e
S20R-MDUNR/LT1 | 20 183200 | 13 | 225 AKV-17-M5x15
$25S-MDUNR/L T 25 | 23 (250 | 17 | =32 DN.. 1104.. AMK-03 - APM-03 - - AAL-03-3

AKV-04-M5x17
S32T-MDUNR/LT1 32 | 30 300 22 | =240

$255-MDUNR/L15 | 25 | 23 | 250 17 | 232 AKV-20-Méx19 -
S32T-MDUNR/L15 &3 || <0 | S0l B | 22 DN.. 1506 AMK-04 AADN-3-0001 APM-04 ABPL-01 AAL-03-3
S4OU-MDUNR/L15 | 40 | 375|350 27 | 250 - - AKV-30-M6x22 AS-O1

S50V-MDUNR/L15 | 50 | 47 400 35 263

& microbor =



Internal Turning Tool Holders

50" MT-NR
[ = -
Tl
)
/ 3
LPR
Dimensions (mm) i Accessories
Order Number Izse":tg Clamp
DCON| H | LPR| WF DMIN Clamp Screw Shim Lock Pin Locking Ring Washer Hex Key
de® & & &£ O O 2
S20R-MT-NR/L 16 20 183 200 16 | 226 AMK-02 AKV-04-MSx17 - APM-03
-~ -04-M5x - -
= S25S5-MT-NR/L 16 25 | 23 | 250 | 17 | 232 APM-14
TN.. 1604.. AAL-03-3
© S32T-MT-NR/L 16 32 | 30 300 | 22 | =40 AATN-2-0002
O AMK-04 AKV-30-Mé6x22 APM-01 AS-01 ABPL-01
c S40U-MT-NR/L16 | 40 | 375 350 | 27 250
+—
g S32T-MT-NR/L 22 32 | 30 300 24 | =240
[0)) S40U-MT-NR/L22 40 375 350 27 250 TN.. 2204.. AMK-04 AKV-30-Méx22 | AATN-3-0015 APM-02 AS-01 ABPL-01 AAL-03-3
< S50U-MT-NR/L22 50 | 47 350 35 @ 263
S
o]
T

107,5°

Dimensions (mm) Qs Accessories
Order Number I:sel:tg Clamp . '
DCON| H | LF A WF DMIN Clamp Screw Shim Lock Pin | LockingRing | Washer Hex Key
d &2 § F O -
S20R-MTQNR/L16 | 20 |18.3 200 13 225 AMK-02 | AKV-17-M5x15 - APM-11 - -
S25S-MTQNR/L16 | 25 | 23 (250 17 @ 232
TN.. 1604.. APM-14 AAL-03-3
S32T-MTQNR/L16 | 32 | 30 (300 22 | 240 AMK-04 | AKV-30-M6x22 | AATN-2-0002 AS-01 ABPL-O1
S4OU-MTQNR/L16 | 40 | 375 350 27 | =50 APM-01

S32T-MTQNR/L22 | 32 | 30 300 | 22 | =240
S40U-MTQNR/L22 40 | 375 350 | 27 | 250 | TN..2204.. AMK-04 | AKV-30-Méx22 | AATN-3-0015 APM-02 AS-01 ABPL-01 AAL-03-3
S50V-MTQNR/L22 | 50 | 47 400 35 | 263

51

microbor




Internal Turning Tool Holders

Zz
=
D VA
Dimensions (mm) s Accessories
Order Number I:se“:tg Clamp
DCON| H | LF | WF DMIN Clamp e Shim Lock Pin Locking Ring|  Washer Hex Key
S20R-MTUNR/L16 | 20 183 200 13 | 225 AMK-02 AKV-17-M5x15 - APM-03 - -
S25S-MTUNR/L16 | 25 | 23 (250 | 17 | =232 APM-14
S32T-MTUNR/L 16 32 | 30 300 22 | =40 .. . -03- >
/ TN.. 1604 AMK-04 AKV-30-Méx22 | AATN-2-0002 AS-01 ABPL-01 AAL-03-3
S40U-MTUNR/L16 | 40 | 375 350 27 250 APM-01 ©
S50V-MTUNR/L16 | 50 | 47 |400| 35 | 263 _8
o]
S32T-MTUNR/L22 = 32 | 30 300 22 | 240 QE’
S40U-MTUNR/L22 | 40 |375 350 27 | 250 = TN..2204.. AMK-04 | AKV-30-Méx22 | AATN-3-0015 APM-02 AS-01 ABPL-01 AAL-03-3 o
S50V-MTUNR/L22 | 50 | 47 400 | 35 | 263 c
o
o
95" MWLNR =
5z
Q=
Oy0
Dimensions (mm) i Accessories
utting
Order Number
DCON H | LF | WF DMIN Insert Clamp CS:I:rr:vs Shim Lock Pin | LockingRing| ~ Washer Hex Key
4 = 4 F O ~
S16P-MWLNR/LO6 | 16 |14.8 170 | 11 | =220 AKV-17-M5x15 APM-09
- > - - - - - -03-
S20R-MWLNR/L06 | 20 |18.3 200 13 25 | WN.. 0604.. AMK-01 AKV-04-M5x17 APM-10 AAL-03-3
S255-MWLNR/LO6 | 25 | 23 (250 | 17 | 232 APM-08
S25S-MWLNR/LO8 | 25 | 23 (250 | 17 | 232 AKV-27-Méx20 APM-04
2T-MWLNR/L 2 22 | 24 .. . - -3- - - -03-
S3. /LO8 | 3 30 | 300 0 | WN.. 0804 AMK-05 AKV-03-M6x22 AAWN-3-0001 APM-02 AS-01 ABPL-01 AAL-03-3
S40U-MWLNR/LO8 | 40 375 350 | 27 | 250

microop =




Internal Turning Tool Holders

&l z
O =
Al 0O
Dimensions (mm) X Accessories
Order Number Clriiilag
Insert Clamp Lever Shi Lock Clamp Hex Ke
beey () | U7 | WP [ Lever Screw m Spring Clerp Screw v
®
& By
&  —
S20R-PDQNR/LT1 | 20 18.3 200 13 | 225 ALV-01-Méx14
DN.. 1104.. APL-01 AADN-SD317 AAY-01 - - AAL-02-2.5
o S25S-PDQNR/L 11 25 | 23 | 250 | 17 | 232 ALV-02-Méx17
§o]
(o] S32T-PDQNR/L15 | 32 | 30 300 22 | 240
% S40U-PDQNR/L15 40 375 350 27 | 250 DN.. 1506.. APL-03 ALV-03-M8x19 | AADN-3-0001 AAY-02 - - AAL-03-3
E S50V-PDQNR/L15 | 50 | 47 |400| 35 | 263
g) S32T-PDQNR/L 1504 | 32 | 30 1300 | 22 | 240
"5 S40U-PDQNR/L 1504, 40 | 375|350 | 27 | 250 DN.. 1504.. APL-03 ALV-03-M8x19 | AADN-2-0003 AAY-02 - - AAL-03-3
0] S50V-PDQNR/L1504| 50 | 47 (400 35 | 263
T
A20P-PDQNR/L11 | 20 183|170 | 13 | 225 ALV-01-Mb6x14
DN.. 1104.. APL-01 AADN-SD317 AAY-01 - - AAL-02-2.5
A25R-PDQNR/LT1 | 25 | 23 200 17 | 232 ALV-02-Méx17

A32S-PDQNR/L15 | 32 | 30 | 250 | 22 | 240
A4OT-PDQNR/L15 | 40 375 300 27 250  DN..1506.. APL-03 ALV-03-M8x19 = AADN-3-0001 AAY-02 - - AAL-03-3
AS0U-PDQNR/L15 | 50 | 47 350 35 | 263

A32S-PDQNR/L1504 32 | 30 | 250 22 240

DN.. 1504.. APL-03 ALV-03-M8x19 = AADN-2-0003 AAY-02 - - AAL-03-3
A4LOT-PDQNR/L 1504 40 | 375 | 300| 27 | 250
o3° PDXNR
| 3 2
=
]
a (@)
Dimensions (mm) @i Accessories
utting
Order Number
Insert Clamp Lever A Lock Clamp
DCON| H | LPR | WF APMX DMIN vy S Shim Spring Clamp S — Hex Key
Q
& @
S32T-PDXNR/L 15 32 | 30 130022 12 =245 ALV-08-M8x16
S40U-PDXNR/L15 | 40 | 375 350 |27 @ 14 |250 DN..1506.. APL-03 ALV-03-M8X19 AADN-3-0001 AAY-02 - - AAL-03-3
S50V-PDXNR/L15 | 50 | 47 400 35| 19 263
A32S-PDXNR/L15 | 32 | 30 250 22 12 240 ALV-08-M8x16
A4LOT-PDXNR/L15 | 40 375 300 27 | 14 (250 DN.1506.. APL-03 ALV-03-M8x19 AADN-3-0001 AAY-02 - - AAL-03-3
AS50U-PDXNR/L15 | 50 | 47 350 |35 19 263

55

microbor




Internal Turning Tool Holders

an 2z
Z
8 5
[
L ,
H h
Dimensions (mm) ) Accessories
Order Number Cliiilvg |
Insert Clamp Lever Shi Lock Clamp el
DCON| H LF | WF DMIN Lever Screw im Spring Clamp Screw Yy
Q
&
Q@ L & B
S16P-PCLNR/L 09 16 148170 | 1 | 220 APL-07 ALV-07-Méx13 - AAY-07
S20R-PCLNR/L0O9 | 20 183 /200 | 13 | =225 .. .. - - -02-2. o
/ CN.. 0903 APL-01 ALV-02-Mé6x17 | AACN-2-0002 AAY-01 AAL-02-25

S25S-PCLNR/L09 | 25 | 23 | 250 17 | 232 '8

S25S-PCLNR/L12C | 25 | 23 | 250 17 | 232 ALV-08-M8x16 %

$32T-PCLNR/L12C | 32 | 30 1300 22 | 240 CN.. 1204.. APL-02 AACN-3-0001 AAY-02 ACK-05 4015-M4x11 AAL-03-3 E

S4OU-PCLNR/L12C | 40 | 375|350 27 @ 250 ALV-03-M8x19 o

S50V-PCLNR/L12C | 50 | 47 |400| 35 | 263 c
]

S32T-PCLNR/L16C | 32 | 30 300 | 22 | 240 (o]
T

S40U-PCLNR/L16C | 40 375 350 | 27 | 250 = CN..1606.. APL-04 | ALV-04-M8x22 | AACN-3-0002 AAY-03 ACK-09 |AAV-05-Méx15 AAL-03-3
S50V-PCLNR/L16C | 50 | 47 400 35 | 263

S40U-PCLNR/L19C | 40 | 375 350 27 | 250

CN..1906.. APL-05 | ALV-05-MI10x27 =AACN-3-0003 AAY-04 ACK-09 |AAV-05-Méx15  AAL-05-4
SSOV-PCLNR/L19C | 50 47 400 35 263
A20P-PCLNR/LO9 | 20 183 170 13 225  CN.0903. | APL-O1 | ALV-02-Méx17 | AACN-2-0002 |  AAY-O1 - - AAL-02-25
A25R-PCLNR/L12C | 25 23 200 17 232 ALV-08-M8x16
AS2S-PCLNR/L12C | 32 | 30 |250 | 22 240 | o ooy | aApL-02 AACN-3-0001|  AAY-02 ACK-05 | 4OI5-MéxTl  AAL-03-3
AGOT-PCINR/L12C | 40 | 375 300 27 | 250 ALV-03-M8x19

AS0U-PCLNR/L12C | 50 | 47 |350 | 35 | 263

A32S-PCLNR/L16C | 32 | 30 | 250 22 | 240
A4OT-PCLNR/L16C | 40 | 375|300 | 27 | 250 | CN..1606.. APL-04 | ALV-04-M8x22 | AACN-3-0002 AAY-03 ACK-09 | AAV-05-M6x15  AAL-03-3
AS50U-PCLNR/L16C | 50 | 47 |350 | 35 | 263

A4OT-PCLNR/L19C | 40 |375|300 27 | 250

CN..1906.. APL-05 | ALV-05-M10x27 | AACN-3-0003 AAY-04 ACK-09 |AAV-05-M6x15  AAL-05-4
A50U-PCLNR/L19C | 50 | 47 | 350 35 | 263

microbop =




Internal Turning Tool Holders

zr =z
8| £
A, 0
Dimensions (mm) ) Accessories
Order Number Cutting cl
Insert amp Lever f Lock Clamp
Hex K
DCON| H LF = WF DMIN v Screw Shim Spring Clamp Screw ex Key
Q
‘ &S Y%
& & A=
S20R-PDUNR/L 11 20 183200 13 | 225 ALV-01-Méx14
DN.. 104.. APL-01 AADN-SD317 AAY-01 - - AAL-02-2.5
o S25S-PDUNR/L 11 25 | 23 |250 | 17 | 232 ALV-02-Mé6x17
O
O S25S-PDUNR/L15 | 25 | 23 | 250 | 19 | 232 ALV-08-M8x16
c
"q-_; SEPIEABUNALTE S ORI 0O PR DN.. 1506.. APL-03 AADN-3-0001 AAY-02 - - AAL-03-3
I S4OU-PDUNR/L15 | 40 | 375 350 27 | 250 ALV-03-M8x19
[0)) S50V-PDUNR/L15 | 50 | 47 400 | 35 | 263
C
'-5 A20P-PDUNR/LTI | 20 (183 170 | 13 | 225 ALV-01-Méx14
:% A25R-PDUNR/L T 25 | 23 |200 | 17 | =232 DN.. 1104.. APL-01 ALV-02-Méx17 AADN-SD317 AAY-01 - - AAL-02-2.5
A32S-PDUNR/L T 32 | 30 | 250 | 22 | =40
A32S-PDUNR/L15 | 32 30 250 22 240
ALOT-PDUNR/L15 | 40 | 375 300 | 27 250 DN.. 1506.. APL-03 ALV-03-M8x19 | AADN-3-0001 AAY-02 - - AAL-03-3
A50U-PDUNR/L15 | 50 | 47 350 35 @263

SS

microbor




Internal Turning Tool Holders

75°

| { | 2zt =z
% o) s
)\ O
N } 0,0
LF
Dimensions (mm) ) Accessories
Order Number Cutting cl
Insert amp Lever . Lock Clamp
Shi Hex K
DCON| H LF = WF DMIN e Serow im Spring Clamp Screw ex Key
®
e
\\& —
S25S-PSKNR/L12C | 25 | 23 250 | 17 | 232 ALV-08-M8x16
= > o
SEPARPEILES S 0 ST 2 S SN.. 1204.. APL-02 AASN-3-0004 AAY-02 ACK-05 4015-M4x11 AAL-03-3
S4OU-PSKNR/L12C | 40 | 375|350 27 | 250 ALV-03-M8x19 ©
S50V-PSKNR/L12C | 50 | 47 |400 | 35 | 263 _8
]
S32T-PSKNR/L15C | 32 | 30 1300 | 22 | 240 GE)
S40U-PSKNR/L15C | 40 | 375 | 350 27 | 250 SN.. 1506.. APL-04 ALV-04-M8x22 | AASN-3-0023 AAY-03 ACK-09 |AAV-05-Mé6x15| AAL-03-3 (o))
S50V-PSKNR/L15C | 50 | 47 |400 | 35 | 263 c
]
A25R-PSKNR/L12C | 25 | 23 |200 17 | 232 ALV-08-M8x16 6
_ T
A325-PSKNR/L12C | 32 | 30 1250 | 22 | 240 SN.. 1204.. APL-02 AASN-3-0004 AAY-02 ACK-05 4015-M4x11 AAL-03-3
A4OT-PSKNR/L12C | 40 375 300 27 | =250 ALV-03-M8x19

A50U-PSKNR/L12C | 50 | 47 | 350 35 | 263

A32S-PSKNR/L15C | 32 | 30 250 22 | 240
ALOT-PSKNR/L15C | 40 | 375 300 27 | 250 | SN..1506.. APL-04 | ALV-04-M8x22 | AASN-3-0023 AAY-03 ACK-09 | AAV-05-Méx15| AAL-03-3
A50U-PSKNR/L15C | 50 | 47 350 | 35 | 263

= .
8l =
a [a)
Dimensions (mm) ) Accessories
Order Number i
Insert Clamp Lever Shim Lock Clamp Hex K
meey G | OF | W |[RLd Lever Screw Spring e Screw Sy
©
$
d L & &
A25R-PTFNR/L16C | 25 | 23 |200 | 17 | 232
TN.. 1604.. APL-01 ALV-02-Méx17 | AATN-3-0025 AAY-01 ACK-05 4015-M4xT1 AAL-03-3
A32S-PTFNR/L16C | 32 | 30 1250 22 240

microbop =




Internal Turning Tool Holders

zt =z
G
&y °
Dimensions (mm) cuti Accessories
utting
Order Number
Insert Clamp Lever Shim Lock Clamp
Hex K
DCON| H | LF A WF DMIN Lever - Spring Clamp Screw ex Key
Q
¢
S16P-PTUNR/L 16 16 148170 1 | 220 APL-08 ALV-07-M6x13 - AAY-07
(a S20R-PTUNR/L 16 20 183 200 13 | 225 ALV-01-Méx14
© S25S-PTUNR/L16C | 25 | 23 | 250 | 17 | 232 TN.. 1604.. AAL-02-2.5
[e) APL-01 ALV-02-M6x17 | AATN-3-0025 AAY-01
c S32T-PTUNR/L16C | 32 | 30 |300 22 | =240 ACK-05 4015-M4x11
"q-_; S40U-PTUNR/L16C | 40 | 375|350 27 | 250
S
(o)) S32T-PTUNR/L22C | 32 | 30 (300 | 22 | 240
g S40U-PTUNR/L22C| 40 | 375 350 | 27 | 250 TN.. 2204.. APL-02 ALV-03-M8x19 | AATN-3-0015 AAY-02 ACK-05 4015-M4x11 AAL-03-3
% S50V-PTUNR/L22C | 50 | 47 400 | 35 | 263
T A16M-PTUNR/L 16 16 1148150 1 | 220 APL-08 ALV-07-M6x13 - AAY-07
A20P-PTUNR/L 16 20 183170 13 | 225 ALV-01-Méx14
A25R-PTUNR/L16C | 25 | 23 200 17 @ =232 TN.. 1604.. ~-02-2.
/ APL-01 AATN-3-0025 AAY-01 AAL-02-2.5
A32S-PTUNR/L16C | 32 | 30 | 250 22 240 ALV-02-Méx17 ACK-05 4015-M4x11

A4OT-PTUNR/L16C | 40 | 375 300 27 | 250

A32S-PTUNR/L22C | 32 | 30 250 22 | 240

TN.2204. | APL-02 | ALV-03-M8x19 | AATN-3-0015 AAY-02 ACK-05 | 4015-Méx11 | AAL-03-3
A4OT-PTUNR/L22C | 40 | 375 300 27 250 X x

. microbor



Internal Turning Tool Holders

I=rz
ol =
] | ol &
' [a)]
LF b
Dimensions (mm) X Accessories
Order Number ClriE
Insert Clamp Lever Shi Lock Clamp Hex Ke:
bEe W | LR | W e Lever Screw m Spring Cltermp Screw v
©
SENRN
‘ & ¢ =
S20R-PWLNR/L0O6 | 20 [18.3 200 13 | 225 ALV-01-Méx14
S25S-PWLNR/L0O6 | 25 | 23 250 | 17 | 232 | WN..0604.. APL-01 ALV-02-M6x17 AAWN-SW317 AAY-01 - - AAL-02-2.5 o
S32T-PWLNR/L06 | 32 | 30 |300 | 22 | 240 '8
S25S-PWLNR/LO8C | 25 @ 23 |250 17 | 232 %
- z
$32T-PWLNR/L 0BC | 32 | 30 |300 | 22 40 WN.. 0804.. APL-02 ALV-03-M8x19 | AAWN-3-0001 AAY-02 ACK-05 4015-M4x11 | AAL-03-3 E
S40U-PWLNR/L0O8C 40 | 375 350 | 27 | 250 [0))
S50V-PWLNR/LO8C | 50 | 47 400 | 35 | 263 c
]
Al6M PWLNR/LO6 | 16 148 150 | 11 | 220 APL-08 ALV-07-M6x13 - AAY-07 O
A20P-PWLNR/LO6 | 20 (183 170 | 13 | 225 ALV-01-Méx14 I
A25R-PWLNR/LO6 | 25 | 23 |200 17 | 232 | WN.. 4.. - - -02-2.
/ 060 APL-01 AAWN-SW317 AAY-01 AAL-02-2.5
A32S-PWLNR/LO6 | 32 | 30 | 250 22 | 240 ALV-02-Mé6x17
A4LOT-PWLNR/LO6 | 40 | 375 300 27 250
A25R-PWLNR/L0O8C 25 23 200 17 @ 232
- B
A325-PWLNR/LOSC | 32 | 30 | 250 | 22 40 WN.. 0804.. APL-02 ALV-03-M8x19 | AAWN-3-0001 AAY-02 ACK-05 4015-M4x11 | AAL-03-3
A4OT-PWLNR/L0O8C | 40 | 375 300 27 | 250
A50U-PWLNR/LO8C 50 | 47 350 | 35 | 263

microor =




Internal Turning Tool Holders

95 :; —i ) Y
4
| O =
ol D g ! )E
=y 95° |

Dimensions (mm) S Accessories
utting
Order Number 5

I G i Shim Shim Screw Rin Hex Ke
DCON H | LF  WF DMIN Clamp P o 9 y

S25R-CCLNR/LO9 | 25 | 23 200 | 17 | =32
CN.N 0903(0%Y). 214 - ICSN-332" 1150 - 5004

S32S-CCINR/L0O9 | 32 | 30 | 250 22 | 240
| s4OT-CCLNR12 | 40 | 375 | 300 | 27 | 250 CN.N1204(03"). | 2617+ ous | ICSN-ss&4 | meo | - 5004

* Order shims for CN.N 0904.. and CN.N 1203.. separately
**Clamp complete with Clamp screw

O
§®)
o
=
()
1S
(0]
=
S
(©]
I

|
7]
|
T :‘Z I
i
COl
o
-
DMIN

a4 =14

Dimensions (mm) v Accessories
utting
Order Number .
Insert Clamp Chip Shim Shim S TORX Hex Key
DCON H LF  WF DMIN Clomp oo Broater im Serew |20
P
O © 5O
S25R-CRSNR/LOG6 | 25 | 23 | 200 | 17 | =32
RN.N 060300 | 2604 m8s - - - X10 -
S32S-CRSNR/LO6 | 32 | 30 | 250 | 22 | 240
S32S-CRSNR/LO9 32 | 30 | 250 | 22 | =40 |RN.N 0903(04')00 264 - IRSN-33" 1150 - 5004

*Order shims for RN.N 090400 separately
**Clamp complete with Clamp screw

. microbor




Internal Turning Tool Holders

75°
Zz
>
[a]
H
Dimensions (mm) . Accessories
Order Number Cutting cl ch
Insert lamp ip . . 9 My
DCON H LF WF | DMIN Clamp o — B Shim Shim Screw Ring x Key
S25R-CSKNR/LO9 | 25 | 23 | 200 17 | 232
SN.N 0903(04°) 24 - ISSN-333* 1150 - 5004
S325-CSKNR/LO9 | 32 | 30 | 250 | 22 | 240
S40T-CSKNR12 | 40 | 375 | 300 | 27 | 250 | SN.N1204(03") | 27" | oms | ICSN-454 1160 - 5004 |

*Order shims for CN.N 0904.. and CN.N 1203.. separately
**Clamp complete with Clamp screw

O
O
o
c
=
[}
S
(&)
=
ke
o
T

microor e



Internal Turning Tool Holders

= _
3l z SCLCR
g, B
4 27
3| £
]
A [a)]
Dimensions (mm) c Accessories
utting
Order Number sesnl EB H cl;l:;\l LE  WF DMIN Insert S Shim Shim Screw TORX Key
% ?
O 2
® ¢ 8 ¢ <
(7)) SOéOBH-SCLCR/LO3‘ 08 ‘ 5 ‘ 73 ‘ 18 ‘100‘ 3 ‘ 26 ‘ CC.. 030102 ‘ 4006-M1.6x3.2 ‘ - ‘ - ‘ 80-T06
-8 S0608H-SCLCR/L06 | 08 6 73 25 100 | 45 | =8 4008-M2.5x4.5
_'-C_, SO8H-SCLCR/L06 | 08 8 73 20 | 100 | 06 211
Q S10K-SCLCR/L06 | 10 10 09 25 125 o7 213
E CC.. 0602.. 4008-M2.5x6 - - 80-T08
o S12K-SCLCR/L 06 12 12 n 25 125 09 216
C S1216P-SCLCR/L 06 16 n5 148 | 37 170 09 216
E S16P-SCLCR/L 06 16 16 148 | 35 170 n 220
o]
T S12K-SCLCR/L 09 12 12 n 30 125 09 216 4015-M3.5x8

S1416P-SCLCR/LQO9 | 16 4 | 148 | 45 | 170 | 95 | =217
S16P-SCLCR/L09 | 16 16 | 148 35 | 170 n 220

4015-M3.5x9

S1620R-SCLCR/L 09 | 20 6 | 183 50 200 | M 220 CC.. 09T3.. 80-T15

S20R-SCLCR/L09 | 20 20 183 40 | 200 @ 13 225

$255-SCLCR/L09 | 25 25 23 50 | 250 17 232

4015-M3.5x12 AACN-2-0001 AAV-08-M3.5x8
S32T-SCLCR/L09 | 32 32 30 60 | 300 | 22 | =40
S258-SCLCR/L12 | 25 25 23 50 | 250 17 232 4020-M4.5x12
AAV-10-M4.5x8
S32T-SCLCR/L12 | 32 32 30 60 | 300 22 | =40 CC..1204.. 1020-M4.5x16 AACN-2-0003 80-T20
S40U-SCLCR/L12 | 40 40 | 375 | 70 | 350 | 27 | =50 ) AAV-07-M4.5x13

AO8H-SCLCR/L06 & 08 8 7.3 20 100 06 | =1

AIOH-SCLCR/L06 | 10 10 09 25 | 100 | 07 @ =213 4008-M2.5x6 - -

CC.. 0602.. 80-T08
A12H-SCLCR/L06 = 12 12 n 25 100 | 09 | =16
AI6M-SCLCR/L09 | 16 16 | 148 | 35 | 150 n 220 4015-M3.5x9 - -

A20P-SCLCR/L09 | 20 20 183 | 40 | 170 13| 225
A25R-SCLCR/LQ9 = 25 25 23 50 | 200 17 | 232 CC.. 09T3.. 4015-M3.5x12 AACN-2-0001 AAV-08-M3.5x8 80-T15
A32S-SCLCR/L09 | 32 32 30 60 | 250 | 22 | =240

A25R—SCLCR/L12‘ 25 ‘ 25 ‘ 23 ‘ 50 ‘200‘ 17 ‘ 232 ‘ CC.. 1204.. 4020-M4.5x12 AACN-2-0003 AAV-10-M4.5x8 80-T20

a6 Microbor



Internal Turning Tool Holders

m_ 1 e
% | =
107,&#/ [a)a)
Yy vr y
L LF
Dimensions (mm) Accessories
Cutting
Order Numbe .
reerTmber DCON H LF |~ WF | DMIN Insert Screw Shim Shim Screw TORX Key
Q g
O 5
@ ¢ g < A
S10K-SDQCR/L 07 10 09 125 07 213
S12K-SDQCR/L 07 12 n 125 09 216 n
DC.. 0702.. 4008-M2.5x6 - - 80-T08
S16P-SDQCR/L 07 16 14.8 170 n 220 -8
S20R-SDQCR/L 07 20 18.3 | 200 13 225 c
+
Q
S16P-SDQCR/L 11 16 14.8 170 n 220 4015-M3.5x9 _ _ E
S20R-SDQCR/L T 20 18.3 200 13 225 4015-M3.5x11 ()]
$25S-SDQCR/L 11 25 23 250 17 232 DC.. 11T3.. 4015-M3.5x12 AAV-08-M3.5x8 80-T15 %
S32T-SDQCR/L 11 32 30 300 22 240 AADN-2-0001 —_
/ 4015-M3.5x14 AAV-06-M3.5x11 (o]
S40U-SDQCR/L 1 40 375 350 27 250 T
AIOH-SDQCR/L 07 10 09 100 07 213
A12H-SDQCR/L 07 12 n 100 09 216
DC.. 0702.. 4008-M2.5x6 - - 80-T08
A16M-SDQCR/L 07 16 14.8 150 n 220
A20P-SDQCR/L 07 20 18.3 170 13 225
A16M-SDQCR/L 11 16 14.8 150 n 220 4015-M3.5x9
A20P-SDQCR/L T 20 18.3 170 13 225 4015-M3.5x11
DC.. 1TT3.. 80-T15
A25R-SDQCR/L T 25 23 200 17 232 4015-M3.5x12 AADN-2-0001 AAV-08-M3.5x8
A32S-SDQCR/L 1 32 30 250 22 240 4015-M3.5x14 AAV-06-M3.5x11

& microbop =



Internal Turning Tool Holders

/
: 73) N =EEE SDUCR
WDl T T 82
[a]
4E= 14 [a) A
/ LU m I
H LF
/] E
=g
f \;\ Nf —1 0| Z
@ L \ Ol =
\J 2| 93° 183
- OHN S -
H ‘ LF
Dimensions (mm) cutti Accessories
. - utting
rder Number sEen ED H él:';\l LF WE  DMIN Insert Screw Shim Shim Screw TORX Key

@ & g ¢ =

(2 SO810K-SDUCR/LO7 | 10 8 09 30 | 125 | 08 @ =213
-8 S10K-SDUCR/L 07 | 10 10 09 25 | 125 08 =13
c S12K-SDUCR/L07 | 12 12 n 25 | 125 | 09 @ =216
=]
Q S1216P-SDUCR/L07 = 16 n5 | 148 37 | 170 | 09 | =16 DC.. 0702.. 4008-M2.5x6 - - 80-T08
S S1416P-SDUCR/L 07 | 16 4 | 148 | 45 | 170 | 95 | =17
g S16P-SDUCR/LO7 | 16 6 | 148 | 35 | 170 il 220
.'5 S20R-SDUCR/LO7 | 20 20 | 183 | 40 200 | 13 225
o
I S1416P-SDUCR/LT1 | 16 14 | 148 45 | 170 il 218
S16P-SDUCR/LT1 | 16 16 | 148 | 35 | 170 1l 220 4015-M3.5x9 _ _
S1620R-SDUCR/LT | 20 16 | 183 | 50 | 200 m 220
S20R-SDUCR/LT | 20 20 183 | 40 | 200 | 13 225 4015-M3.5x11
DC.. 1T3.. 80-T15
$255-SDUCR/LTI | 25 25 23 50 | 250 | 17 232 4015-M3.5x12 AAV-08-M3.5x8
S32T-SDUCR/L T | 32 32 30 60 | 300 22 | =40
AADN-2-0001
S40U-SDUCR/LT | 40 40 | 375 70 350 27 | =50 4015-M3.5x14 AAV-06-M3.5x11

S50V-SDUCR/LTI | 50 50 47 80 400 35 | 263

AO810H-SDUCR/L 07 | 10 8 09 30 100 | 08 | =13
AIOH-SDUCR/L 07 | 10 10 09 25 | 100 | 08 | =13
A12H-SDUCR/LO7 | 12 12 n 25 | 100 09 =16 DC.. 0702.. 4008-M2.5x6 - - 80-T08
AI6M-SDUCR/L07 | 16 16 | 148 | 35 | 150 il 220
A20P-SDUCR/L 07 = 20 20 183 | 40 | 170 13 B2

AI6M-SDUCR/LT1 | 16 16 | 148 | 35 | 150 il 220 4015-M3.5x9 _ B

A20P-SDUCR/LT | 20 20 183 | 40 170 13 225 DC. 11T3.. 4015-M3.5x11 80-TI5
A25R-SDUCR/LT | 25 25 23 50 | 200 | 17 232 4015-M3.5x12 AADN-2-0001 AAV-08-M3.5x8
A32S-SDUCR/LT | 32 32 30 60 | 250 | 22 | =240 4015-M3.5x14 AAV-06-M3.5x11

63

microbor




Internal Turning Tool Holders

| z1 =z
S =
Q
la g Al
LPR
Dimensions (mm) Accessories
Cutting
Order Number .
DCON H | LPR WF | APMX DMIN Insert Screw Shim Shim Screw TORX Key
=y, S S
2
S12K-SDXCR/L 07 12 1 25 09 | 45 @ 216
S16P-SDXCR/LO7 = 16 | 148 170 | 1 65 | 220 DC.. 0702.. 4008-M2.5x6 - - 80-T08 (%)
S20R-SDXCR/LO7 | 20 | 183 200 | 13 | 65 | 225 '8
S16P-SDXCR/L 11 6 | 148 170 | T 65 | 220 =
4015-M3.5x11 - - 5}
S20R-SDXCR/L 11 20 | 183 | 200 14 | 75 | 225 £
$255-SDXCR/L 25 | 23 | 250 | W7 9 | =232 DC.. 11T3.. AAV-08-M3.5x8 80-T15 o
S32T-SDXCR/L 1 32 | 30 300 22 | 125 | 240 4015-M3.5x14 AADN-2-0001 £
AAV-06-M3.5xT1 5
S4OU-SDXCR/LT | 40 | 375 @ 350 | 27 | 145 | 250 5
I
A12H-SDXCR/L07 | 12 100 09 | 45 @ 216
AI6M-SDXCR/LO7 | 16 | 148 | 150 @ M 65 | 220 DC.. 0702.. 4008-M2.5x6 - - 80-T08
A20P-SDXCR/LO7 | 20 | 183 | 170 | 13 | 65 225
AI6M-SDXCR/L 6 | 148 150 T 75 | 220
A20P-SDXCR/LTI | 20 | 183 170 | % 7 2 4015-M3.5xT1 B )
- 2
183 'S | =% DC.. TIT3. 80-TI5
A25R-SDXCR/L 25 | 23 | 200 17 9 | =32 AAV-08-M3.5x8
4015-M3.5x14 AADN-2-0001
A32S-SDXCR/LT 32 | 30 | 250 22 | 125 | 240 AAV-06-M3.5x11

microbop =




wn
O
o
g
=
[0}
S
(o))
£
K
o]
T

Internal Turning Tool Holders

45 SSSCR
zZr z
y g 2
E a0
Dimensions (mm) ) Accessories
Order Number Cluttlnrtg .
DCON H | LPR WF DMN IS Screw Shim Shim Screw TORX Key
Q 2
() & 2
0 & — & / N
S16P-SSSCR/L 09 16 14.8 170 n 220 4015-M3.5x9 B _
S20R-SSSCR/L 09 20 18.3 200 13 225 SC.. 09T3.. 4015-M3.5x11 80-T15
$25S-SSSCR/L 09 25 23 250 17 232 4015-M3.5x12 AASN-2-0001 AAV-08-M3.5x8
S25S-SSSCR/L 12 25 28 250 17 232 4020-M4.5x12 AAV-10-M4.5x8
S32T-SSSCR/L 12 32 30 300 22 240 SC.. 1204.. AASN-2-0004 80-T20
1020-M4.5x16 AAV-07-M4.5x13
S40U-SSSCR/L 12 40 375 350 27 =50

65 microbor




Internal Turning Tool Holders

DCON
DMIN

Dimensions (mm) Accessories
Cutting
Order Number
DCON H LF | WF  DMIN seis Screw Shim Shim Screw TORX Key
Q ¢
O 3
4 & $ A
S12K-ST-CR/LT | 12 il 125 | 09 | =217
S16P-ST-CR/LTI | 16 | 148 | 170 | 220 TC.. 1102.. 4008-M2.5x6 - - 80-T08
S20R-ST-CR/LTl | 20 | 183 | 200 | 13 | =225
S16P-ST-CR/L16 | 16 | 148 170 | 22 £4015-M3.5x9 B B
S20R-ST-CR/L16 | 20 = 183 | 200 | 13 | =225 4015-M3.5x11
$258-ST-CR/L16 | 25 23 250 @ 17 | 232 TC.. 16T3.. AAV-08-M3.5x8 80-T15
-ST- > -M3. AATN-2-0001
S32T-ST-CR/L16 | 32 30 | 300 22 40 4015-M3,5x14 AAV-06-M3.5xT]
S4OU-ST-CR/L16 | 40 | 375 | 350 & 27 | =50

&= microbor

66

(%]
Ne}
o
e
+=
(0]
S
(o)
=
K
o
I




wn
O
o
g
=
[0}
S
(o))
£
S
o]
T

Internal Turning Tool Holders

a \J_‘ 1 = z
) 8 s , I
\J ; 93° E/ / ay e
H ‘ LF
| <
Dimensions (mm) Accessories
Cutting
Order Number .
DCON H LF | WF DMIN st Screw Shim Shim Screw TORX Key
% \Z
S S
& S D
S10K-STUCR/L 09 10 09 125 o7 213
TC.. 0902.. 3007-M2.2x5 - - 80-T07
S12K-STUCR/L 09 12 n 125 09 216
S12K-STUCR/L T 12 n 125 09 217
S16P-STUCR/L 11 16 14.8 170 n 220 TC.. 102.. 4008-M2.5x6 - - 80-T08
S20R-STUCR/L 1 20 18.3 200 13 225
S16P-STUCR/L 16 16 14.8 170 n 220 4015-M3.5x9 _ B
S20R-STUCR/L 16 20 18.3 200 13 225 4015-M3.5x11
S25S-STUCR/L 16 25 23 250 17 232 TC.. 16T3.. AAV-08-M3.5x8 80-T15
- E -M3. AATN-2-0001
S32T-STUCR/L 16 32 30 300 22 40 4015-M3.5x14 AAV-06-M3.5xT1
S40U-STUCR/L 16 40 575, 350 27 250
AI0H-STUCR/L 09 10 09 100 07 213
TC.. 0902.. 3007-M2.2x5 - - 80-T07
AI2H-STUCR/L 09 12 n 100 09 216
A12H-STUCR/L 1 12 n 100 09 216
A16M-STUCR/L 11 16 14.8 150 n 220 TC..102.. 4008-M2.5x6 - - 80-T08
A20P-STUCR/L T 20 18.3 170 13 225
A16M-STUCR/L 16 16 14.8 150 n 220 4015-M3.5x9 _ B
A20P-STUCR/L 16 20 18.3 170 13 225 4015-M3.5x11
TC..16T3.. 80-T15
A25R-STUCR/L 16 25 23 200 17 232 AAV-08-M3.5x8
4015-M3.5x14 AATN-2-0001
A32S-STUCR/L 16 32 30 250 22 240 AAV-06-M3.5x11

microbor




Internal Turning Tool Holders

zl =z
8 =
A [a)
Dimensions (mm) Accessories
Cutting
Order Number .
DCON H LF WF | DMIN Insert Screw Shim Shim Screw TORX Key
Q g
O 5
4 ¢ ¢ SO
STOK-STUPR/LTI03 | 10 | 09 @ 125 | 06 | =12
S12K-STUPR/L 1103 | 12 1m0 125 09 | 216 4010-M3x6
S12M-STUPR/LTI03 | 12 m 150 08 | 216 TP.. 1103.. - - 80-T10
S16P-STUPR/LTIO3 | 16 | 148 170 | 10 | =220
4010-M3x8
S16R-STUPR/LTI03 | 16 | 148 | 200 | 10 | 220
| A20R-STUPR/LTIO3 20 | 183 | 200 13 | =225 | TP.TO3. 4010-M3x8 - - 80-TI0 \

93°

ztz
3
(@)
a [a)
Dimensions (mm) c Accessories
utting
Order Number
DCON H LF | WF DMIN o=l Screw Shim Shim Screw TORX Key
v @ '@
S25S-SVJBR/L 16 25 23 250 17 232
4015-M3.5x12 AAV-08-M3.5x8
S32T-SVJBR/L 16 32 30 300 22 240 VB.. 1604.. AAVN-2-0002 80-T15
S40U-SVJBR/L 16 40 375 350 27 =50 4015-M3.5x14 AAV-06-M3.5x11

microor e

(%]
O
o
=
=
Q
€
(@)
=
O
o
T




wn
O
o
g
=
[0}
S
(o))
£
K
o]
T

Internal Turning Tool Holders

DCON
DMIN

107,5°
\ LF
Dimensions (mm) c Accessories
utting
Order Number .
DCON H LF  WF DMIN ==l Screw Shim Shim Screw TORX Key
Q g
- O 3

‘ & =~ $ P

S16P-SVQBR/L 11 16 14.8 170 n 220

VB.. 1103.. 4008-M2.5x6 - - 80-T08
S20R-SVQBR/L 11 20 18.3 200 13 225
S25S-SVQBR/L 16 25 23 250 17 232 AAV-08-M3.5x8

¥ > . . -M3. o= E
S32T-SVQBR/L 16 32 30 300 22 40 VB.. 1604 4015-M3.5x14 AAVN-2-0002 AAV-06-M3.5xT1 80-T15
S40U-SVQBR/L 16 40 375 350 27 250
A20Q-SVQBR/L 11 ‘ 20 18.5 ‘ 180 ‘ 13 225 VB.. 1103.. 4008-M2.5x6 - - 80-T08

A20Q-SVQBR/L 16 20 18.5 180 20 230 4015-M3.5x11 - -

- > . . K
A25S-SVQBR/L 16 25 28 250 17 32 VB.. 1604 4015-M3.5x14 AAVN-2-0002 AAV-06-M3.5x11 80-T15
A32S-SVQBR/L 16 32 30 250 22 240

zt =z
. Q| £
o ol 3
107,5 | Q) 0
4 i Y =
\ LF
Dimensions (mm) — Accessories
utting
Order Number sean = | we | e Insert Screw Shim Shim Screw TORX Key
<= 57 & S
e = S NP
S16P-SVQCR/L 1 16 14.8 170 n 220
VC.. 1103.. 4008-M2.5x6 . - 80-TO8
S20R-SVQCR/L 11 20 18.3 200 13 225
S$25S-SVQCR/L 16 25 23 250 17 232 AAV-08-M3.5x8
S32T-SVQCR/L 16 32 30 300 22 240 VC.. 1604.. 4015-M3.5x14 AAVN-2-0002 80-T15
AAV-06-M3.5x11
S40U-SVQCR/L 16 40 375 350 27 =250
Al6M-SVQCR/L 1 16 14.8 150 n 220
VC..1103.. 4008-M2.5x6 - - 80-T08
A20P-SVQCR/L M 20 18.3 170 13 225
A25R-SVQCR/L 16 25 23 200 17 232 AAV-08-M3.5x8
A325-SVQCR/L 16 32 30 250 22 240 VC..1604.. 4015-M3.5x14 AAVN-2-0002 80-T15
AAV-06-M3.5x11
ALOT-SVQCR/L 16 40 375 300 27 250

& microbor




Internal Turning Tool Holders

gl z
O =
Ay, O
Dimensions (mm) c Accessories
utting
Order Number
DCON H LF  WF | DMIN Insert Screw Shim Shim Screw TORX Key
Q 2
LY &= S 5O
& = $ A
| swp-svuBR/LTI | 16 | W& | 70 | M | 220
VB..T103.. £4008-M2.5x6 - - 80-T08
| S20R-SVUBR/LT | 20 | 183 200 13 | =225 n
‘ -O
S25S-SVUBR/L16 | 25 23 | 250 19 | 232 _8
S32T-SVUBR/L16 = 32 | 30 | 300 22 | =240 VB.. 1604.. 4015-M3.5x14 AAVN-2-0002 AAV-06-M3.5x11 80-T15 =
S4OU-SVUBR/L16 | 40 | 375 | 350 = 27 | =50 =
A20Q-SVUBR/L16 20 | 183 | 180 | 20 | =30 VB 1606 £4015-M3.5x11 - - ‘ 80T 9
A32S-SVUBR/L16 | 32 | 30 | 250 | 22 | 240 T 4015-M3.5x14 AAVN-2-0002 AAV-06-M3.5x11 | e}
(o]
I
93° SVUCR
s
- 8=
B Ay 0O
‘ LF
‘
Dimensions (mm) e Accessories
utting
Order Number
DCON H LF | WF DMIN Insert Screw Shim Shim Screw TORX Key
12)
o~ S 5O
S16P-SVUCR/LTI 16 | 148 | 170 | 125 | 220
VC.. 103.. 4008-M2.5x6 - - 80-T08

S20R-SVUCR/L 11 20 18.3 | 200 13 225

$25S8-SVUCR/L 16 25 23 250 19 232
S32T-SVUCR/L 16 32 30 300 22 240 VC..1604.. 4015-M3.5x14 AAVN-2-0002 AAV-06-M3.5x11 80-T15
S40U-SVUCR/L 16 40 375 | 350 27 250

A2K-SVUCR/LO7 | 12 | m | 125 | 9 | 26 vc.oo2. 3006-M2x4 - - 80-T06

A20P-SVUCR/L T 20 18.3 170 3 225

VC..N03.. 4008-M2.5x6 - - 80-TO8
A20Q-SVUCR/L 1 20 183 | 180 13 225

A25R—SVUCR/L16‘ 25 ‘ 23 ‘200‘ 9 ‘ 232 ‘ VC..1604.. 4015-M3.5x14 AAVN-2-0002 AAV-06-M3.5x11 80-T15

& microbor =



)
§®)
o
=
()
1S
(0]
=
S
(©]
I

Internal Turning Tool Holders

Z
=
[a)]
Dimensions (mm) Accessories
Cutting
Order Number .
DCON H LPR | WF | APMX DMIN Insert Screw Shim Shim Screw TORX Key
°
o~z O 5O
S16P-SVXBR/LTI02 | 16 | 148 | 1770 | 125 = 72 | =220
VB.. 1102.. 4008-M2.5x6 - - 80-T08
S20R-SVXBR/LT102 = 20 | 183 | 200 | 13 57 | 225
S16P-SVXBR/L 11 16 | 148 170 | 125 | 72 | =20
VB.. 1103.. 4008-M2.5x6 - - 80-T08
S20R-SVXBR/L T 20 | 183 | 200 13 57 | 225
$255-SVXBR/L 16 25 23 | 250 | 19 | 102 | =32
S32T-SVXBR/L 16 32 30 | 300 | 22 M7 | =240 VB.. 1604.. 4015-M3.5x14 AAVN-2-0002 AAV-06-M3.5x11 80-T15
S4OU-SVXBR/L16 | 40 | 375 | 350 | 27 | 143 | =250
03’ SVJCR
f\ ] | | 2zt =z
& o \ 3=
) Elé N ] I oy @
A I -
H o
<3 LF
Dimensions (mm) c Accessories
utting
Order Number
DCON H LF | WF DMIN Insert Screw Shim Shim Screw TORX Key
?
o~ O SO
S12K-SVJCR/L M 12 n 125 7 213
S16P-SVJCR/L M 6 | 148 170 n 220 VC.. 1103.. 4008-M2.5x6 - - 80-T08
S20R-SVJCR/L T 20 | 183 | 200 13 | =225
A12H-SVJCR/L 11 12 n 100 | 07 | =213
A16M-SVJCR/L 11 16 | 148 150 n 220 VC.. 103.. 4008-M2.5x6 - - 80-T08
A20P-SVJCR/L T 20 183 | 170 | 13 | =25

7

& microbor




DRILL BODIES




Drill Bodies Identification System

" microbor



Drill Bodies

DC =16.0-60.0 DC =16.0-60.0 DC =16.0-50.0 DC =16.0-46.0
WC.. 030208 WC.. 030208 WC.. 030208 WC.. 040208
WC.. 040208 WC.. 040208 WC.. 040208 WC.. 050308
WC.. 050308 WC.. 050308 WC.. 050308 WC.. 06T308
WC.. 06T308 WC.. 06T308 WC.. 06T308 WC.. 080412
WC.. 080412 WC.. 080412 WC.. 080412

DC =12.5-50.0 DC =12.5-52.0 DC =13-44.0 DC =14.0-33.0
SP.. 050204 SP.. 050204 SP.. 050204 SP.. 050204
SP.. 060204 SP.. 060204 SP.. 060204 SP.. 060204
SP.. 07T308 SP.. 077308 SP.. 07T308 SP.. 07T308
SP.. 090408 SP.. 090408 SP.. 090408 SP.. 090408
SP.. 110408 SP.. 110408 SP.. 110408
SP.. 140512 SP.. 140512 SP.. 140512

microbor

74




Insert shape W

Drill Bodies

2D
=z
(o]
Q
[a]
DCSFMS
Dimensions (mm) Maximum . Accessories
Order Number Off’:gf i?,:m C;:erltg
DC DCON DCSFMS OAL LU LPR LS Screw TORX Key
Xmax | DCmax
2]
d & _<
WCMX03-MD-16XD2 16 25 34 10 32 54 56 15 19
WCMX03-MD-16.5XD2 16.5 25 34 10 32 54 56 15 19.5
WCMX03-MD-17XD2 17 25 34 12 34 56 56 15 20
WCMX03-MD-17.5XD2 175 25 34 12 34 56 56 15 20.5 WC.. 030208 3008-M2.5x6 80-T08
WCMX03-MD-18XD2 18 25 34 N4 36 58 56 14 20.8
WCMX03-MD-18.5XD2 18.5 25 34 M4 36 58 56 13 211
WCMX03-MD-19XD2 19 25 34 16 38 60 56 12 214
WCMX03-MD-19.5XD2 195 25 34 16 38 60 56 1.2 219
WCMX04-MD-20XD2 20 25 34 18 40 62 56 14 228
WCMX04-MD-20.5XD2 205 25 34 n8 40 62 56 14 25
WCMX04-MD-21XD2 21 25 34 120 42 64 56 1 23
WCMX04-MD-21.5XD2 215 25 34 120 42 64 56 1 235 WC.. 040208 3008-M2.5%6 80-T08
WCMX04-MD-22XD2 22 25 34 122 4Lt 66 56 09 23.8
WCMX04-MD-22.5XD2 225 25 34 122 44 66 56 09 24.3
WCMX04-MD-23XD2 23 25 34 124 46 68 56 0.8 24.6
WCMX04-MD-23.5XD2 &[5 25 34 124 46 68 56 0.8 251
WCMX05-MD-24XD2 24 25 34 126 48 70 56 14 26.8
WCMX05-MD-24.5XD2 245 25 34 126 48 70 56 14 273
WCMX05-MD-25XD2 25 25 34 128 50 72 56 14 278
WCMX05-MD-25.5XD2 PSi5] 25 34 128 50 72 56 14 283
WCMX05-MD-26XD2 26 25 34 130 52 74 56 14 28.8
WCMX05-MD-26.5XD2 265 25 34 130 52 74 56 14 293
WCMX05-MD-27XD2 27 25 34 132 54 76 56 14 298 We.. 050308 3008-M3x8 80-T08
WCMX05-MD-27.5XD2 275 25 34 132 54 76 56 14 30.3
WCMX05-MD-28XD2 28 25 34 134 56 78 56 14 30.8
WCMX05-MD-28.5XD2 28.5 25 34 134 56 78 56 14 31.3
WCMX05-MD-29XD2 29 25 34 136 58 80 56 14 31.8
WCMX05-MD-29.5XD2 295 25 34 136 58 80 56 14 32.3

7%

microbor



Drill Bodies

2D
p4
O
O
[a]
DCSFMS
Dimensions (mm) Maximum ) Accessories
Order Number Offr\s’zs I?r:m (ﬁﬁ;telrtg
DC DCON DCSFMS| OAL LU LPR LS Screw TORX Key
Xmax | DCmax
5 2]
a ¢ =
WCMX06-MD-30XD2 30 32 44 147 60 87 60 2.4 348
WCMX06-MD-31XD2 31 32 44 149 62 89 60 2:3 35.6
WCMX06-MD-32XD2 32 32 44 151 64 91 60 21 36.2
WCMX06-MD-33XD2 33 32 44 153 66 93 60 19 36.8
WCMX06-MD-34XD2 34 32 L4 155 68 95 60 19 378
WCMX06-MD-35XD2 35 32 44 157 70 97 60 1.8 38.6
WCMX06-MD-36XD2 36 32 44 159 72 99 60 17 394
WCMX06-MD-37XD2 37 32 L4 161 74 101 60 1.6 40,2 WC.. 06T308 3010-M3.5x9 80-T10
WCMX06-MD-38XD2 38 32 44 163 76 103 60 15 41
WCMX06-MD-39XD2 39 32 44 165 78 105 60 13 41.6
WCMX06-MD-40XD2 40 32 44 167 80 107 60 1 42
WCMX06-MD-41XD2 41 32 44 169 82 109 60 0.8 42.6
WCMX06-MD-42XD2 42 32 44 7m 84 m 60 0.5 43
WCMX06-MD-43XD2 43 32 L4 173 86 n3 60 0.3 43.6
WCMX06-MD-44XD2 44 32 44 175 88 ns 60 0 44
WCMX08-MD-45XD2 45 40 54 192 90 122 70 % 51.6
WCMX08-MD-46XD2 46 40 54 194 92 124 70 3 52
WCMX08-MD-47XD2 47 40 54 196 94 126 70 28 52.6
WCMX08-MD-48XD2 48 40 54 198 96 128 70 2.5 53
WCMX08-MD-49XD2 49 40 54 200 98 130 70 272 53.4 ;
WCMX08-MD-50XD2 50 40 54 202 100 132 70 2 54 8
WCMX08-MD-51XD2 51 40 54 204 102 134 70 18 54.6 _g
WCMX08-MD-52XD2 52 40 54 206 104 136 70 15 55 WC.. 080412 4O15-MéxTl 80-T15 2
WCMX08-MD-53XD2 53 40 54 208 106 138 70 1% 55.6 -
WCMX08-MD-54XD2 54 40 54 210 108 140 70 1 56 g
WCMX08-MD-55XD2 55 40 54 212 110 142 70 0,8 56.6 2=
WCMX08-MD-56XD2 56 40 64 214 12 144 70 0.5 57
WCMX08-MD-57XD2 57 40 64 216 14 146 70 0.3 57.6
WCMX08-MD-58XD2 58 40 64 218 né 148 70 0] 58
WCMX08-MD-59XD2 59 40 64 220 8 150 70 0 59
WCMX08-MD-60XD2 60 40 64 222 120 152 70 0 60

microbop <=




Insert shape W

Drill Bodies

3D
z
(o]
Q
[a]
DCSFMS
Dimensions (mm) Maximum . Accessories
Order Number Offi:? ig1|m ?,L:;telrtg
DC DCON DCSFMS OAL LU LPR LS Screw TORX Key
Xmax | DCmax
x . )
‘ & _AS
WCMX03-MD-16XD3 16 25 34 126 48 70 56 15 19
WCMX03-MD-16.5XD3 16.5 25 34 126 48 70 56 15 195
WCMX03-MD-17XD3 17 25 34 129 51 73 56 15 20
WCMX03-MD-17.5XD3 175 25 34 129 51 73 56 15 20.5 WC.. 030208 3008-M2.5x6 80-T08
WCMX03-MD-18XD3 18 25 34 132 54 76 56 1.4 20.8
WCMX03-MD-18.5XD3 18.5 25 34 132 54 76 56 13 211
WCMX03-MD-19XD3 19 25 34 135 57 79 56 12 21.4
WCMX03-MD-19.5XD3 195 25 34 135 57 79 56 12 219
WCMX04-MD-20XD3 20 25 34 138 60 82 56 14 22.8
WCMX04-MD-20.5XD3 20.5 25 34 138 60 82 56 14 23]
WCMX04-MD-21XD3 21 25 34 141 63 85 56 1 23
WCMX04-MD-21.5XD3 215 25 34 141 63 85 56 1 235 WC.. 040208 3008-M2.5x6 80-T08
WCMX04-MD-22XD3 22 25 34 144 66 88 56 09 238
WCMX04-MD-22.5XD3 225 25 34 144 66 88 56 09 243
WCMX04-MD-23XD3 23 25 34 147 69 9 56 0.8 24.6
WCMX04-MD-23.5XD3 P15} 25 34 147 69 91 56 0.8 25.1
WCMX05-MD-24XD3 24 25 34 150 72 94 56 14 268
WCMX05-MD-24.5XD3 24.5 25 34 150 72 94 56 14 273
WCMX05-MD-25XD3 25 25 34 153 75 97 56 1.4 278
WCMX05-MD-25.5XD3 2515] 25 34 153 75 97 56 14 28.3
WCMX05-MD-26XD3 26 25 34 156 78 100 56 14 28.8
WCMX05-MD-26.5XD3 265 25 34 156 78 100 56 14 293
WCMX05-MD-27XD3 27 25 34 159 81 103 56 14 298 WC. 050308 3008-M3x8 g0-T08
WCMX05-MD-27.5XD3 275 25 34 159 81 103 56 14 30.3
WCMX05-MD-28XD3 28 25 34 162 84 106 56 14 30.8
WCMX05-MD-28.5XD3 28.5 25 34 162 84 106 56 14 313
WCMX05-MD-29XD3 29 25 34 165 87 109 56 14 31.8
WCMX05-MD-29.5XD3 295 25 34 165 87 109 56 14 323

77

microbor




Drill Bodies

3D
P
O
O
[a)
DCSFMS
Dimensions (mm) Maximum ) Accessories
Order Number Offzgs I?r:m C|,L:;te|?tg
DC DCON DCSFMS| OAL LU LPR 'S Screw TORX Key
Xmax | DCmax
@
a ¢ =
WCMX06-MD-30XD3 30 32 44 177 90 7 60 2.4 34.8
WCMX06-MD-30.5XD3 30.5 32 44 177 90 n7 60 2.4 S5
WCMX06-MD-31XD3 31 32 4b 180 93 120 60 23 35.6
WCMX06-MD-31.5XD3 31.5 32 4b 180 93 120 60 2.3 36.1
WCMX06-MD-32XD3 32 32 44 183 96 123 60 21 36.2
WCMX06-MD-32.5XD3 325 32 44 183 96 123 60 21 36.7
WCMX06-MD-33XD3 33 32 4b 186 99 126 60 19 36.8
WCMX06-MD-33.5XD3 BSiS 32 44 186 99 126 60 19 373
WCMX06-MD-34XD3 34 32 44 189 102 129 60 19 378
WCMX06-MD-34.5XD3 34.5 32 4b 189 102 129 60 19 383
WCMX06-MD-35XD3 35 32 44 192 105 132 60 1.8 38.6
WCMX06-MD-35.5XD3 355 32 44 192 105 132 60 1.8 391
WCMX06-MD-36XD3 36 32 4b 195 108 135 60 17 394
WCMX06-MD-36.5XD3 36.5 32 4b 195 108 135 60 2 40.5
WCMX06-MD-37XD3 37 32 4Lt 198 m 138 60 1.6 40.2
WC.. 06T308 3010-M3.5x9 80-T10
WCMX06-MD-37.5XD3 375 32 4b 198 m 138 60 1.8 411
WCMX06-MD-38XD3 38 32 44 201 T4 141 60 1.5 41
WCMX06-MD-38.5XD3 38.5 52 44 201 e 141 60 1.5 415
WCMX06-MD-39XD3 39 32 44 204 7 144 60 13 41.6
WCMX06-MD-39.5XD3 395 32 4b 204 n7 144 60 13 421 ;
WCMX06-MD-40XD3 40 32 44 207 120 147 60 1 42 (0]
WCMX06-MD-40.5XD3 40.5 32 44 207 120 147 60 1 425 Q
WCMX06-MD-41XD3 41 32 44 210 123 150 60 0.8 42.6 _g
WCMX06-MD-41.5XD3 415 32 44 210 123 150 60 0.8 431 2
WCMX06-MD-42XD3 42 32 4b 213 126 153 60 0.5 43 6
WCMX06-MD-42.5XD3 425 32 4b 213 126 153 60 0.5 435 8
WCMX06-MD-43XD3 43 32 44 216 129 156 60 0.3 43.6 —
WCMX06-MD-43.5XD3 435 32 4b 216 129 156 60 03 441
WCMX06-MD-44XD3 Lb 32 44 219 132 159 60 0 4Lt
WCMX06-MD-44.5XD3 445 32 4b 219 132 159 60 0 44.5

microor =




Insert shape W

Drill Bodies

=z

(e}

Q

[a]

DCSFMS
Dimensions (mm) Maximum . Accessories
Order Number Off':g? i?,:m (i,l:;telrtg
DC DCON DCSFMS| OAL LU LPR LS Screw TORX Key
Ximax | DCrox
12)

WCMX08-MD-45XD3 45 40 54 237 135 167 70 3.3 51.6
WCMX08-MD-45.5XD3 455 40 54 237 135 167 70 3.3 521
WCMX08-MD-46XD3 46 40 54 240 138 170 70 3 52
WCMX08-MD-47XD3 47 40 54 243 141 173 70 2.8 52.6
WCMX08-MD-48XD3 48 40 54 246 144 176 70 25 53
WCMX08-MD-49XD3 49 40 54 249 147 179 70 22 53.4
WCMX08-MD-50XD3 50 40 54 252 150 182 70 2 54
WCMX08-MD-51XD3 51 40 54 255 153 185 70 1.8 54.6
WCMX08-MD-52XD3 52 40 54 258 156 188 70 15 55 WC.. 080412 4015-M4x11 80-T15
WCMX08-MD-53XD3 53 40 54 261 159 191 70 13 55.6
WCMX08-MD-54XD3 54 40 54 264 162 194 70 1 56
WCMX08-MD-55XD3 55 40 54 267 165 197 70 0.8 56.6
WCMX08-MD-56XD3 56 40 64 270 168 200 70 0.5 57
WCMX08-MD-57XD3 57 40 b4 273 7m 203 70 0.3 576
WCMX08-MD-58XD3 58 40 64 276 174 206 70 [0] 58
WCMX08-MD-59XD3 59 40 64 279 177 209 70 (0] 59
WCMX08-MD-60XD3 60 40 b4 282 180 212 70 [0] 60

79

microbor




Drill Bodies

4D

P4
(o]
Q
[a]
DCSFMS
Dimensions (mm) Maximum . Accessories
Order Number Offr.:.:? }?r:m) cl::::l:cg
DC DCON DCSFMS| OAL LU LPR LS Screw TORX Key
Xmax | DCmax
P
‘ & AD
WCMX03-MD-16XD4 16 25 34 142 64 86 56 15 19
WCMX03-MD-16.5XD4 16.5 25 34 142 64 86 56 115 195
WCMX03-MD-17XD4 17 25 34 146 68 90 56 15 20
WCMX03-MD-17.5XD4 17.5 25 34 146 68 90 56 15 205 WC.. 030208 3008-M2.5%6 80-T08
WCMX03-MD-18XD4 18 25 34 150 72 A 56 14 20.8
WCMX03-MD-18.5XD4 18.5 25 34 150 72 94 56 13 211
WCMX03-MD-19XD4 19 25 34 154 76 98 56 1.2 21.4
WCMX03-MD-19.5XD4 195 25 34 154 76 98 56 1.2 219
WCMX04-MD-20XD4 20 25 34 158 80 102 56 14 22.8
WCMX04-MD-20.5XD4 20.5 25 34 158 80 102 56 1.4 233
WCMX04-MD-21XD4 21 25 34 162 84 106 56 1 23
WCMX04-MD-21.5XD4 215 25 34 162 84 106 56 1 235 WC.. 040208 3008-M2.5x6 80-T08
WCMX04-MD-22XD4 22 25 34 166 88 10 56 09 238
WCMX04-MD-22.5XD4 225 25 34 166 88 10 56 09 24.3
WCMX04-MD-23XD4 23 25 34 170 92 N4 56 0.8 24.6
WCMX04-MD-23.5XD4 235 25 34 170 92 N4 56 0.8 25.1
WCMX05-MD-24XD4 24 25 34 174 96 n8 56 1.4 268 ;
WCMX05-MD-24.5XD4 245 25 34 174 96 n8 56 14 273 [0))
WCMX05-MD-25XD4 25 25 34 178 100 122 56 14 278 8‘
WCMX05-MD-25.5XD4 255 25 34 178 100 122 56 14 28.3 .%
WCMX05-MD-26XD4 26 25 34 182 104 126 56 14 28.8 +—
WCMX05-MD-26.5XD4 265 25 34 182 104 126 56 14 293 6
WC.. 050308 3008-M3x8 80-T08 n
WCMX05-MD-27XD4 27 25 34 186 108 130 56 14 298 E
WCMX05-MD-27.5XD4 275 25 34 186 108 130 56 14 30.3
WCMX05-MD-28XD4 28 25 34 190 12 134 56 14 30.8
WCMX05-MD-28.5XD4 285 25 34 190 12 134 56 14 31.3
WCMX05-MD-29XD4 29 25 34 194 né 138 56 14 3.8
WCMX05-MD-29.5XD4 295 25 34 194 né 138 56 1.4 32.3

microop =




Insert shape W

Drill Bodies

4D

z

O

Q

[a]

DCSFMS
Dimensions (mm) Maximum . Accessories
Order Number offr;:? }?r:m) ﬁ::z:cg
DC DCON DCSFMS OAL LU LPR LS Screw TORX Key
Xmax T DCmax
12)
WCMX06-MD-30XD4 30 32 4Lt 207 120 147 60 2.4 34.8
WCMX06-MD-31XD4 31 32 44 21 124 151 60 23 35.6
WCMX06-MD-32XD4 32 32 44 215 128 155 60 21 36.2
WCMX06-MD-33XD4 33 32 44 219 132 159 60 19 36.8
WCMX06-MD-33.5XD4 335 32 4Lt 219 132 159 60 19 373
WCMX06-MD-34XD4 34 32 44 223 136 163 60 19 378
WCMX06-MD-35XD4 35 32 4Lt 227 140 167 60 18 38.6
WCMX06-MD-36XD4 36 32 44 231 144 7 60 17 394
WCMX06-MD-37XD4 37 32 44 235 148 175 60 1.6 40.2 WC.. 06T308 3010-M3.5x9 80-T10
WCMX06-MD-38XD4 38 32 44 239 152 179 60 15 41
WCMX06-MD-38.5XD4 38.5 32 4Lt 239 152 179 60 15 41.5
WCMX06-MD-39XD4 39 32 44 243 156 183 60 1.3 41.6
WCMX06-MD-40XD4 40 32 4Lt 247 160 187 60 1 42
WCMX06-MD-41XD4 41 32 44 251 164 191 60 0.8 42.6
WCMX06-MD-42XD4 42 32 44 255 168 195 60 0.5 43
WCMX06-MD-43XD4 43 32 44 259 172 199 60 0.3 43.6
WCMX06-MD-44XD4 4Lt 32 4Lt 263 176 203 60 0 44
WCMX08-MD-45XD4 45 40 54 282 180 212 70 & 51.6
WCMX08-MD-46XD4 46 40 54 286 184 216 70 3 52
WCMX08-MD-47XD4 47 40 54 290 188 220 70 28 52.6
WC.. 080412 4015-M4x11 80-T15

WCMX08-MD-48XD4 48 40 54 294 192 224 70 25 53
WCMX08-MD-49XD4 49 40 54 298 196 228 70 22 53.4
WCMX08-MD-50XD4 50 40 54 302 200 232 70 2 54

81

microbor




Drill Bodies

=z
(e}
Q
[a]
DCSFMS
Dimensions (mm) Maximum ) Accessories
. Radial Cutting
rder Number
DC | DCON DCSFMS OAL LU | LPR | LS Oz e e Screw TORX Key
Xmax | DCmax
12)
4 ¢ <
WCMX04-MD-20XD5 20 25 34 178 100 122 56 14 228
WCMX04-MD-21XD5 21 25 34 183 105 127 56 1 7%
WC.. 040208 3008-M2.5x6 80-T08
WCMX04-MD-22XD5 22 25 34 188 1o 132 56 09 238
WCMX04-MD-23XD5 23 25 34 193 LB 137 56 0.8 24.6
WCMX05-MD-24XD5 24 25 34 198 120 142 56 1.4 268
WCMX05-MD-25XD5 25 25 34 203 125 147 56 1.4 278
WCMX05-MD-26XD5 26 25 34 208 130 152 56 14 28.8
WC.. 050308 3008-M3x8 80-TO8
WCMX05-MD-27XD5 27 25 34 213 135 157 56 14 298
WCMX05-MD-28XD5 28 25 34 218 140 162 56 1.4 30.8
WCMX05-MD-29XD5 29 25 34 223 145 167 56 1.4 31.8
WCMX06-MD-30XD5 30 32 L4 237 150 177 60 2.4 34.8
WCMX06-MD-31XD5 31 32 44 242 155 182 60 23 35.6
WCMX06-MD-32XD5 32 32 L4 247 160 187 60 2.1 36.2
WCMX06-MD-33XD! g .
CMX06 33XD5 33 32 44 252 165 192 60 19 36.8 WC.. 06T308 2010-M3.5¢9 80-T10
WCMX06-MD-34XD5 34 32 L4 257 170 197 60 19 378
WCMX06-MD-35XD5 35 32 44 262 175 202 60 1.8 38.6
WCMX06-MD-37XD5 37 32 L4 272 185 212 60 1.6 40.2
WCMX06-MD-38XD5 38 32 44 277 190 217 60 1.5 41
WCMX0B-MD-46XD5 | 46 | 40 | 54 | 332 | 230 | 262 | 70 | 3 | 52 | WC.080412 4015-M4xT1 80-T15 |

@
o
(o]
S
(%]
o
0]
(%2)
S

microbor <=




Insert shape S

Drill Bodies

z
(e}
Q
[a]
DCSFMS
Dimensions (mm) Maximum . Accessories
Order Number Of'fzg? i?,:m ﬁﬁ::?tg
DC | DCON DCSFMS OAL LU LPR LS Screw TORX Key
Xmax | DCmax
1 2)
& & <=
SPMG05-MD-12.5XD2 125 20 25 96 24 46 50 0.5 13.5
SPMGO5-MD-13XD2 13 20 25 98 26 48 50 0.5 1%
SPMG05-MD-13.5XD2 13.5 20 25 98 26 48 50 0.5 4.5
SPMG05-MD-14XD2 1% 20 25 100 28 50 50 0.5 15 SP- 050204 3006-M2xt 80-106
SPMGO5-MD-14.5XD2 14.5 20 25 100 28 50 50 0.5 15.5
SPMG05-MD-15XD2 15 20 25 102 30 52 50 0.5 16
SPMG06-MD-15.5XD2 15.5 20 25 102 30 52 50 0.5 16.5
SPMG06-MD-16XD2 16 25 34 10 32 54 56 0.5 17
SPMG06-MD-16.5XD2 16.5 25 34 110 32 54 56 0.5 175
SPMG06-MD-17XD2 17 25 34 2 34 56 56 0.5 18
SPMG06-MD-17.5XD2 175 25 34 2 34 56 56 0.5 18.5
SPMG06-MD-18XD2 18 25 34 14 36 58 56 0.5 19
SPMG06-MD-18.5XD2 18.5 25 34 4 36 58 56 0.5 195 SP.. 060204 3007-M2.2x5 80-T07
SPMG06-MD-19XD2 19 25 34 16 38 60 56 0.25 195
SPMG06-MD-19.5XD2 195 25 34 16 38 60 56 0.25 20
SPMG06-MD-20XD2 20 25 34 18 40 62 56 0 20
SPMG06-MD-20.5XD2 20.5 25 34 18 40 62 56 0 20.5
SPMG06-MD-21XD2 21 25 34 120 42 64 56 0 21
SPMG06-MD-21.5XD2 215 25 34 120 42 64 56 0 215
SPMG07-MD-22XD2 22 25 34 122 44 66 56 0.5 23
SPMG07-MD-22.5XD2 225 25 34 122 44 66 56 0.5 235
SPMG07-MD-23XD2 23 25 34 124 46 68 56 0.5 24
SPMGO7-MD-23.5XD2 235 25 34 124 46 68 56 0.5 245
SPMGO7-MD-24XD2 24 25 34 126 48 70 56 0.5 25
SPMGO7-MD-24.5XD2 245 25 34 126 48 70 56 0.5 255
SPMGO07-MD-25XD2 25 25 34 128 50 72 56 0.25 255 SP- 071308 3008-M2.546 80-108
SPMG07-MD-25.5XD2 255 25 34 128 50 72 56 0.25 26
SPMG07-MD-26XD2 26 25 34 130 52 74 56 0 26
SPMGO7-MD-26.5XD2 26.5 25 34 130 52 74 56 0 26,5
SPMG07-MD-27XD2 27 25 34 132 54 76 56 0 27
SPMGO7-MD-27.5XD2 275 25 34 132 54 76 56 0 275

83

microbor




Drill Bodies

2D

p4
(e}
Q
[a]
DCSFMS
Dimensions (mm) Maximum . Accessories
Ot Tt Radial Cutting
raer Number
DC | DCON DCSFMS OAL LU | LPR | LS Ol iam) lieend Screw TORX Key
Xmax | DCmax
x 1 2)
5
. & & <
SPMG09-MD-28XD2 28 25 34 134 56 78 56 0.5 29
SPMG09-MD-28.5XD2 28.5 25 34 134 56 78 56 0.5 295
SPMG09-MD-29XD2 29 25 34 136 58 80 56 0.5 30
-MD-29. . 136 58 80 56 0.5 30.5
SPMG09-MD-29.5XD2 25 25 34 SP.. 090408 4015-M3.5x9 80-T15
SPMG09-MD-30XD2 30 32 44 147 60 87 60 0.5 31
SPMG09-MD-31XD2 31 32 44 149 62 89 60 0.25 31.5
SPMG09-MD-32XD2 32 32 4Lt 151 64 Eal 60 6] 32
SPMG09-MD-33XD2 33 32 44 153 66 93 60 (0] BS
SPMGT11-MD-34XD2 34 32 44 155 68 95 60 0.5 35
SPMG11-MD-35XD2 35 32 4Lt 157 70 97 60 0.5 36
SPMG11-MD-36XD2 36 32 4Lt 159 72 99 60 0.5 37
-MD- 74 101 I
SPMGT11-MD-37XD2 37 32 44 161 0 60 0.5 38 SP. 110408 4O15-MbxTl 80-T15
SPMG11-MD-38XD2 38 32 4Lt 163 76 103 60 0.5 39
SPMG11-MD-39XD2 39 32 4Lt 165 78 105 60 0.5 40
SPMGT11-MD-40XD2 40 32 44 167 80 107 60 0.25 40.5
SPMGT11-MD-41XD2 41 32 4Lt 169 82 109 60 0] 41
SPMG14-MD-42XD2 42 32 4Lt 7m 84 m 60 0.5 43
SPMG14-MD-43XD2 43 32 44 173 86 13 60 0.5 4Lt
SPMG14-MD-44XD2 44 32 4Lt 175 88 15 60 0.5 45 (%)
(0]
-MD- 5 4 54 192 90 122 70 0.5 4
SPMG14-MD-45XD2 “ o < SP.. 140512 1020-M5x11 80-T20 Q
SPMG14-MD-46XD2 46 40 54 194 92 124 70 0.5 47 g
SPMG14-MD-47XD2 47 40 54 196 94 126 70 0.5 48 %)
SPMG14-MD-48XD2 48 40 54 198 96 128 70 0.25 48.5 ":(T_;
SPMG14-MD-49XD2 49 40 54 200 98 130 70 (0] 49 (%)
SPMG14-MD-50XD2 50 40 54 202 100 132 70 0 50 E

microbop =




Insert shape S

Drill Bodies

z
(e}
Q
[a]
DCSFMS
OAL
Dimensions (mm) Maximum . Accessories
Order Number Offsetlom) | Insert
DC | DCON DCSFMS OAL LU LPR LS Screw TORX Key
Xmax | DCmax
1 2)
@ & <=
SPMG05-MD-12.5XD3 12,5 20 25 108 36 58 50 0.5 13.5
SPMG05-MD-13XD3 13 20 25 m 39 61 50 0.5 1%
SPMG05-MD-13.5XD3 13.5 20 25 m 39 61 50 05 145
SPMG05-MD-14XD3 1% 20 25 14 42 64 50 0.5 15 SP- 050204 3006-M2xt 80-T06
SPMGO5-MD-14.5XD3 14.5 20 25 14 42 64 50 0.5 15.5
SPMG05-MD-15XD3 15 20 25 17 45 67 50 05 16
SPMG06-MD-15.5XD3 15.5 20 25 17 45 67 50 0.5 16.5
SPMG06-MD-16XD3 16 25 34 126 48 70 56 0.5 7
SPMG06-MD-16.5XD3 16.5 25 34 126 48 70 56 05 175
SPMG06-MD-17XD3 17 25 34 129 51 73 56 0.5 18
SPMG06-MD-17.5XD3 175 25 34 129 51 73 56 0.5 18.5
SPMG06-MD-18XD3 18 25 34 132 54 76 56 05 19
SPMG06-MD-18.5XD3 18.5 25 34 132 54 76 56 0.5 195 SP.. 060204 3007-M2.2x5 80-T07
SPMG06-MD-19XD3 19 25 34 135 57 79 56 0.25 195
SPMG06-MD-19.5XD3 195 25 34 135 57 79 56 0.25 20
SPMG06-MD-20XD3 20 25 34 138 60 82 56 0 20
SPMG06-MD-20.5XD3 20.5 25 34 138 60 82 56 0 20.5
SPMG06-MD-21XD3 21 25 34 141 63 85 56 0 21
SPMG06-MD-21.5XD3 215 25 34 141 63 85 56 0 215
SPMGO7-MD-22XD3 22 25 34 {72 66 88 56 0.5 23
SPMG07-MD-22.5XD3 225 25 34 144 66 88 56 0.5 235
SPMG07-MD-23XD3 23 25 34 147 69 91 56 0.5 24
SPMG07-MD-23.5XD3 235 25 34 %7 69 91 56 0.5 24.5
SPMGO7-MD-24XD3 24 25 34 150 72 94 56 05 25
SPMGO7-MD-24.5XD3 24.5 25 34 150 72 94 56 0.5 255
SPMGO07-MD-25XD3 25 25 34 153 75 97 56 0.25 25.5 SP- 071308 3008-M2.546 80-108
SPMGO7-MD-25.5XD3 255 25 34 153 75 97 56 0.25 26
SPMG07-MD-26XD3 26 25 34 156 78 100 56 0 26
SPMG07-MD-26.5XD3 265 25 34 156 78 100 56 0 26,5
SPMG07-MD-27XD3 27 25 34 159 81 103 56 0 27
SPMG07-MD-27.5XD3 275 25 34 159 81 103 56 0 275

85

microbor




Drill Bodies

p4
(e}
Q
[a]
DCSFMS
Dimensions (mm) Maximum . Accessories
Order Number Offi:? i?r:m C|,L::2rr1tg
DC DCON DCSFMS| OAL LU LPR LS Screw TORX Key
Xmax | DCmax
x 12)
- & & <
SPMG09-MD-28XD3 28 25 34 162 84 106 56 0.5 29
SPMG09-MD-28.5XD3 285 25 34 162 84 106 56 0.5 295
SPMG09-MD-29XD3 29 25 34 165 87 109 56 0.5 30
SPMG09-MD-29.5XD3 295 25 34 165 87 109 56 0.5 30.5
SPMG09-MD-30XD3 30 32 4Lt 177 90 n7 60 0.5 31
SPMG09-MD-30.5XD3 30.5 32 44 177 90 n7 60 0.5 31.5
SP.. 090408 4015-M3.5x9 80-T15
SPMG09-MD-31XD3 31 32 4Lt 180 93 120 60 0.25 31.5
SPMG09-MD-31.5XD3 31.5 32 4Lt 180 93 120 60 0.25 32
SPMG09-MD-32XD3 32 32 44 183 96 123 60 0 32
SPMG09-MD-32.5XD3 325 32 4Lt 183 96 123 60 (] 325
SPMG09-MD-33XD3 33 32 4Lt 186 99 126 60 0 33
SPMG09-MD-33.5XD3 8815 32 44 186 99 126 60 (0] BEI5)
SPMGT11-MD-34XD3 34 32 4Lt 189 102 129 60 14 30.8
SPMGT11-MD-34.5XD3 34.5 32 44 189 102 129 60 14 31.3
SPMGT11-MD-35XD3 35 32 4Lt 192 105 132 60 14 31.8
SPMG11-MD-35.5XD3 5515 32 4Lt 192 105 132 60 14 323
SPMGT11-MD-36XD3 36 32 44 195 108 135 60 2.4 34.8
SPMGT11-MD-36.5XD3 36.5 32 44 195 108 135 60 23 35.6
SPMGT11-MD-37XD3 37 32 4Lt 198 m 138 60 21 36.2 %)
SPMGT11-MD-37.5XD3 375 32 4Lt 198 m 138 60 19 36.8 [0)
SPMGT11-MD-38XD3 38 32 4Lt 201 14 141 60 19 378 SP.. 110408 4015-M4x11 80-T15 Q
SPMGT11-MD-38.5XD3 38.5 32 4Lt 201 N4 141 60 1.8 38.6 g
SPMGT11-MD-39XD3 39 32 4Lt 204 mn7 144 60 17 394 :2
SPMGT11-MD-39.5XD3 395 32 44 204 n7z 144 60 1.6 40.2 l(T_)
SPMGT11-MD-40XD3 40 32 4Lt 207 120 147 60 15 41 2
SPMGT11-MD-40.5XD3 40.5 32 4Lt 207 120 147 60 13 41.6 =
SPMGT11-MD-41XD3 41 32 4Lt 210 123 150 60 1 42
SPMGT11-MD-41.5XD3 41.5 32 4Lt 210 123 150 60 0.8 42.6

microbop =




Insert shape S

Drill Bodies

p4
(e}
Q
[a]
DCSFMS
Dimensions (mm) Maximum . Accessories
Order Number Of'f’:g? i?r:m ﬁﬁ:g?tg
DC DCON DCSFMS OAL LU LPR LS Screw TORX Key
Xmax | DCmax
12)
a & _AS
SPMG14-MD-42XD3 42 32 4Lt 213 126 153 60 0.5 43
SPMG14-MD-42.5XD3 425 32 44 213 126 153 60 0.3 43.6
SPMG14-MD-43XD3 43 32 L4 216 129 156 60 [0] 44
SPMG14-MD-43.5XD3 43.5 32 4Lt 216 129 156 60 S| 51.6
SPMG14-MD-44XD3 L4 32 44 219 132 159 60 3 52
SPMG14-MD-44.5XD3 445 32 44 219 132 159 60 2.8 52.6
SPMG14-MD-45XD3 45 40 54 237 135 167 70 25 53
SPMG14-MD-45.5XD3 455 40 54 237 135 167 70 22 53.4 SP. 140512 1020-M5xT1 80-120
SPMG14-MD-46XD3 46 40 54 240 138 170 70 2 54
SPMG14-MD-47XD3 47 40 54 243 141 173 70 0.2 474
SPMG14-MD-48XD3 48 40 54 246 144 176 70 [0] 48
SPMG14-MD-49XD3 49 40 54 249 147 179 70 (0] 49
SPMG14-MD-50XD3 50 40 54 252 150 182 70 [0] 50
SPMG14-MD-51XD3 51 40 54 255 153 185 70 [0] 51
SPMG14-MD-52XD3 52 40 54 258 156 188 70 0 52

87

microbor




Drill Bodies

4
(o]
Q
&)
DCSFMS
Dimensions (mm) Maximum . Accessories
Order Number Radial Cutting
I
DC | DCON DCSFMS OAL LU | LPR | LS Ol i) lnsel Screw TORX Key
Xmax | DCmax
x 12)
5
o & & <
SPMGO05-MD-13XD4 13 20 25 124 52 74 50 0.5 14
SPMGO5-MD-14XD4 14 20 25 128 56 78 50 0.5 15 SP.. 050204 3006-M2x4 80-T06
SPMGO05-MD-15XD4 15 20 25 132 60 82 50 0.5 16
SPMG06-MD-16XD4 16 25 34 142 64 86 56 0.5 17
SPMG06-MD-17XD4 17 25 34 146 68 90 56 0.5 18
SPMG06-MD-17.5XD4 175 25 34 146 68 90 56 0.5 18.5
PM -MD-18XD4 1 4 1 72 94 .
SPMG06 8 8 = 5 50 56 05 ” SP.. 060204 3007-M2.2x5 80-T07
SPMG06-MD-19XD4 19 25 34 154 76 98 56 0.25 195
SPMG06-MD-19.5XD4 195 25 34 154 76 98 56 0.25 20
SPMG06-MD-20XD4 20 25 34 158 80 102 56 [0] 20
SPMG06-MD-21XD4 21 25 34 162 84 106 56 0 21
SPMGO07-MD-22XD4 22 25 34 166 88 1o 56 0.5 23
SPMGO07-MD-23XD4 23 25 34 170 92 A 56 0.5 24
SPMGO07-MD-23.5XD4 235 2S 34 170 92 N4 56 0.5 24.5
SPMGQ07-MD-24XD4 24 25 34 174 96 n8 56 0.5 25
SP.. 07T308 3008-M2.5x6 80-T08
SPMGO07-MD-25XD4 25 25 34 178 100 122 56 0.25 2515
SPMGQ07-MD-26XD4 26 25 34 182 104 126 56 [0] 26
SPMGO07-MD-27XD4 27 25 34 186 108 130 56 [0] 27
SPMGQ7-MD-27.5XD4 275 25 34 186 108 130 56 (0] 275 (%)
(0]
SPMG09-MD-28XD4 28 25 34 190 12 134 56 0.5 29 8‘
SPMG09-MD-29XD4 29 25 34 194 né 138 56 0.5 30 %
SPMG09-MD-30XD4 30 32 44 207 120 147 60 0.5 31 4
p—
SPMG09-MD-31XD4 31 32 44 21 124 151 60 0.25 31.5 SP.. 090408 4015-M3.5x9 80-T15 8
SPMG09-MD-32XD4 32 32 4Lt 215 128 155 60 (0] 32 E
SPMG09-MD-33XD4 33 32 4Lt 219 132 159 60 [0] 33
SPMG09-MD-33.5XD4 33.5 32 44 219 132 159 60 [0] BSt5)
SPMG11-MD-34XD4 34 32 4Lt 223 136 163 60 0.5 35
SPMGT11-MD-35XD4 85 32 4Lt 227 140 167 60 0.5 36
SPMG11-MD-36XD4 36 32 4Lt 231 144 7 60 0.5 37
SPMG11-MD-37XD4 37 32 4Lt 235 148 175 60 0.5 38 SP. 110408 4015-MaxcTl 80-T15
SPMGT11-MD-38XD4 38 32 4Lt 239 152 179 60 0.5 39
SPMGT11-MD-39XD4 39 32 4Lt 243 156 183 60 0.5 40
SPMG11-MD-40XD4 40 32 4Lt 247 160 187 60 0.25 40.5
SPMG11-MD-41XD4 41 32 4Lt 251 164 191 60 [0] 41
SPMG14-MD-42XD4 42 32 4Lt 255 168 195 60 0.5 43
SPMG14-MD-43XD4 43 32 4Lt 259 172 199 60 0.5 44 SP.. 140512 1020-M5x11 80-T20
SPMG14-MD-44XD4 L4 32 44 263 176 203 60 0.5 45

microop =




Insert shape S

Drill Bodies

5D

DCSFMS

OAL
Dimensions (mm) Maximum . Accessories
Order Number Of'fzg? i?,:m C;:erltg

DC | DCON DCSFMS OAL LU LPR LS Screw TORX Key
Xmax | DCmax

12)

& & <=

SPMG05-MD-14XD5 % 20 \ 25 \ 142 \ 70 92 50 \ 0.5 \15.00\ SP.. 050204 \ 3006-M2x4 \ 80-T06
SPMG06-MD-16XD5 16 25 34 158 80 102 56 0.5 17.00
SPMG06-MD-17XD5 7 25 34 163 85 107 56 05 | 18.00
SPMG06-MD-18XD5 18 25 34 168 90 112 56 0.5 1900

SPMG06-MD-19XD5 19 25 34 73 95 n7 56 025 | 1950 SP- 060204 007-M2.263 so-107
SPMG06-MD-20XD5 20 25 34 178 100 122 56 0 20.00
SPMG06-MD-21XD5 21 25 34 183 105 127 56 0 21.00
SPMGO7-MD-22XD5 22 25 34 188 10 132 56 05 | 2300
SPMGO7-MD-22XD5-32 22 32 44 197 10 137 60 05 | 2300
SPMGO7-MD-23XD5 23 25 34 193 15 137 56 05 | 2400
SPMGO7-MD-23XD5-32 23 32 44 202 15 142 60 05 | 2400
SPMGO7-MD-24XD5-32 24 32 44 207 120 %7 60 05 | 2500

SPMGO07-MD-25XD5 25 25 34 203 125 147 56 025 | 2550 SP.. 077308 3008-M2.5x6 80-T08
SPMGO7-MD-25XD5-32 25 32 44 212 125 152 60 025 | 2550
SPMG07-MD-26XD5 26 25 34 208 130 152 56 0 26.00
SPMGO7-MD-26XD5-32 26 32 44 217 130 157 60 0 26.00
SPMGO7-MD-27XD5 27 25 34 213 135 157 56 0 2700
SPMGO7-MD-27XD5-32 27 32 /oA 222 135 162 60 0 2700
SPMG09-MD-28XD5-32 28 32 44 227 140 167 60 05 | 2900
SPMG09-MD-29XD5-32 29 32 44 232 145 172 60 05 | 30.00
SPMG09-MD-30XD5 30 32 44 237 150 177 60 05 | 3100

SP.. 090408 4015-M3.5x9 80-T15
SPMG09-MD-31XD5 31 32 44 2642 155 182 60 025 | 3150
SPMG09-MD-32XD5 32 32 /A 247 160 187 60 0 32.00
SPMG09-MD-33XD5 33 32 44 252 165 192 60 0 33.00

89

microbor




MILL BODIES




Mill Bodies Identification System

Lo

E — End Mill

F — Face Mill

90°

88°

75°

45°

HF - HIGHFEED

C - Pintle

S — Bore Diameter

W - Weldon

o E@microbop



Mill Bodies

Series APKT10/APKT1135/APKT16

90° | p. 94 p. 95 90° p. 96
AP.. 1003.. AP..1003.. AP.. 1003..
AP.. 1135.. AP.. 1604..
AP.. 1604..
210-40 220-40 240-200
Series SEKT12T3
p. 97
SE.. 12T3..
250-200
p. 98 p. 98
SN.. 1206.. SN.. 1206..
250-100 250-200
Series RPMT08T2/RPMT10T3/RPMT12
p. 99 p. 99
RP.. 08T2.. RP.. 1204..
RP.. 10T3..
RP.. 1204..
220-32 250-80
Series RDMT10T3/RDMT12
p. 100 p. 100
RD.. 10T3.. RD.. 10T3..
RD.. 1204.. RD.. 1204..
220-32 240-100

microbor




Mill Bodies

Series LNMUO303
HF p. 101 HF p. 101
LN.. 0303.. LN.. 0303..
016-33 040-63
p.102 HF p.102
WN.. 09T3.. @ WN.. 09T3..
©25-40 04L0-63
Series SDMT09/SDMT12
p.103 HF p. 103
SD.. 09T3.. % SD.. 1205..
©22-32 ©52-80
Series SNGN12
p. 104 88° p. 104
SP.N 1203.. L% SN.N 1204..
250-200 250-125
Series TPGN16/TPGN22
90° | p.105
TP.N 1603..
TP.N 2204..
250-315

microbor




Mill Bodies

90°

DC
\
|
|
T
|
|
|
D‘CON

LF
APKT10
Dimensions (mm) . Accessories
Cutting
Order Number Insert
DC ZEFP | DCON LF LH APMX Screw TORX Key
2]
o & /@

APKT10-E90-D10Z1C10-L100 10 1 10 100 20 10

APKT10-E90-D12Z1C16-L100-C 12 1 16 100 30 10

APKT10-E90-D12Z1W16-L150-C 12 1 16 150 38 10

APKT10-E90-D16Z2C16-L100-C 16 2 16 100 30 10

APKT10-E90-D16Z2W16-L100-C 16 2 16 100 30 10

APKT10-E90-D16Z2W16-L200 16 2 16 200 100 10

APKT10-E90-D16Z2C16-L150-C 16 2 16 150 50 10

APKT10-E90-D16Z2W16-L150 16 2 16 150 50 10

3008-M2.5x5

APKT10-E90-D16Z2C16-L200-C 16 2 16 200 100 10

APKT10-E90-D16Z2C16-1L250 16 2 16 250 150 10

APKT10-E90-D20Z3C20-L100-C 20 3 20 100 30 10

APKT10-E90-D20Z3W20-L100-C 20 5 20 100 30 10

APKT10-E90-D20Z3C20-L150-C 20 3 20 150 50 10

APKT10-E90-D20Z3W20-L150 20 3 20 150 50 10

APKT10-E90-D2072C20-L200 20 2 20 200 100 10

APKT10-E90-D20Z3C20-L200-C 20 3 20 200 100 10

APKT10-E90-D20Z2C20-L250-C 20 2 20 250 150 10 AP..1003.. 80-T08
APKT10-E90-D25Z4W25-L100-C 25 4 25 100 30 10

APKT10-E90-D25Z3C25-L100-C 25 3 25 100 30 10

APKT10-E90-D25Z3W25-1100-C 25 3 25 100 30 10

APKT10-E90-D25Z3C25-1150 25 3 25 150 50 10

APKT10-E90-D25Z3W25-L150 25 3 25 150 50 10

APKT10-E90-D25Z3C25-L200 25 3 25 200 100 10

APKT10-E90-D2572C25-1250 25 2 25 250 100 10

APKT10-E90-D30Z4C25-1100-C 30 4 25 100 30 10

APKT10-E90-D30Z4C25-L150 30 4 25 150 30 10 3008-M2.5x6
APKT10-E90-D32Z4C25-L100-C 32 4 25 100 35 10

APKT10-E90-D32Z4C25-1150 32 4 25 150 35 10

APKT10-E90-D32Z4W25-L150 32 4 25 150 35 10

APKT10-E90-D3275C32-L130 32 S 32 130 30 10

APKT10-E90-D32Z4W32-1150 32 4 32 150 50 10

APKT10-E90-D40Z5W32-L150 40 5 32 150 40 10

microbop =




Mill Bodies

90° '
5
Q
8 — g
)
AP
LH
LF
APKT1135 - APKT16
Dimensions (mm) i Accessories
Cutting
Order Number Insert
DC | ZEFP | DCON  LF LH | APMX Screw TORX Key
P

APKT1135-E90-D16Z2W16-L110-C 16 2 16 110 30 95
APKTT135-E90-D16Z2W16-1150 16 2 16 150 50 95
APKT1135-E90-D20Z3W20-L125-C 20 3 20 125 30 95
APKT1135-E90-D20Z3W20-L150 20 3 20 150 50 95
APKTT135-E90-D2524W25-1125-C 25 4 25 125 30 95 AP.. T135.. 3008-M2.5x6 80-T08
APKT1135-E90-D2524W25-1200-C | 25 4 25 200 100 95
APKT1135-E90-D32Z5W32-1125-C 32 5 32 125 30 95
APKT1135-E90-D3224W32-1200-C | 32 4 32 200 100 95
APKT16-E90-D2572C20-L100 25 2 20 100 35 16
APKT16-E90-D2572W25-1100-C 25 2 25 100 35 16
APKT16-E90-D2572W25-1150 25 2 25 150 50 16
APKT16-E90-D2572C25-1250 25 2 25 250 100 16
APKT16-E90-D28Z3W25-1100-C 28 3 25 100 40 16
APKT16-E90-D28Z3W25-L150 28 3 25 150 40 16
APKT16-E90-D30Z3W25-L110-C 30 3 25 110 40 16
APKT16-E90-D30Z3W25-L150 30 3 25 150 40 16
APKT16-E90-D32Z3W32-L110-C 32 3 32 110 40 16
APKT16-E90-D32Z3C32-1150 32 3 32 150 50 16 AP.. 1604.. 4015-M4x9 80-T15
APKT16-E90-D32Z3W25-1150 32 3 25 150 40 16
APKT16-E90-D32Z3W32-1150-C 32 3 32 150 50 16
APKT16-E90-D3223C25-1200-C 32 3 25 200 40 16
APKT16-E90-D32Z3C32-1250 32 3 32 250 | 100 16
APKT16-E90-D35Z3W32-1150 35 3 32 150 40 16
APKT16-E90-D40Z4W32-L110-C 40 4 32 110 40 16
APKT16-E90-D40Z4C32-1150 40 4 32 150 40 16
APKT16-E90-D40Z4W32-1150 40 4 32 150 40 16
APKT16-E90-D40Z4C32-1250 40 4 32 250 40 16

95

microbor




Mill Bodies

DCON

Dimensions (mm) i Accessories
Order Number Cutting
lretzy Inserts Insert
e - ZEFP DC DCON | APMX LH LF Screw TORX Key
2
o & /\\/
APKT10-E90-D20Z0204W20-L087 2 20 20 18 37 87
APKT10-E90-D20Z0206W20-L087 6 2 20 20 28 37 87
APKT10-E90-D2520208W25-L105-C 8 2 25 25 37 50 105 AP..1003.. 3008-M2.5x6 80-T08
APKT10-E90-D32Z0315W32-L115-C 15 B 32 32 46 55 ns
APKT10-E90-D40Z0318W32-L130-C 18 3 40 32 55 70 130
[T
]
el
>
[
<
Dimensions (mm) X Accessories
Order Number Cutting
r
DC | ZEFP | DCON = LF | APMX psert Screw TORX Key (;'“mp
crew
1 2J
® & < ¢
APKT10-F90-D40Z5S516-C 40 5 16 40 10 2506-M8x30
APKT10-F90-D5026S22-C 50 6 22 40 10
2508-M10x30
APKT10-F90-D6327S22-C 63 7 22 40 10 AP..1003.. 3008-M2.5x6 80-T08
APKT10-F90-D80Z8S27-C 80 8 27 50 10 2510-M12x35
APKT10-F90-D10029532-C 100 9 32 50 10 2514-M16x35
APKT16-F90-D40Z4S16-C 40 4 16 40 16 2506-M8x30
APKT16-F90-D50Z25522-C 50 5 22 40 16
2508-M10x30
APKT16-F90-D6326S22-C 63 [} 22 40 16
APKT16-F90-D80Z7S27-C 80 7 27 50 16 2510-M12x35
AP.. 1604.. 4015-M4x11 80-T15
APKT16-F90-D100Z8S32-C 100 8 32 50 16 2514-M16x35
APKT16-F90-D125Z9S40 125 9 40 63 16
APKT16-F90-D160Z10S40 160 10 40 63 16 -
APKT16-F90-D200Z12S60 200 12 60 63 16

microbop =




Mill Bodies

()

DC

Dimensions (mm) . Accessories
Order Number Cutting
T
DC | ZEFP | DCON | LF | APMX Ui Screw TORX Key §'°mp
crew
o
@ ¢& < ¢
SEKTI2T3-F45-D5024522-C 50 4 22 40 6
2407-M10x30
SEKT12T3-F45-D6325522-C 63 5 22 40 6
SEKT12T3-F45-D80Z6527-C 80 6 27 50 6 2510-M12x35
SEKT12T3-F45-D100Z7532-C 100 7 32 50 6 SE.. 12T3.. 4015-M3.5x11 80-T15 2514-M16x35
SEKT12T3-F45-D12528540 125 8 40 63 6
SEKT12T3-F45-D160Z10S40 160 10 40 63 6 -
SEKTI2T3-F45-D200Z12560 200 2 60 63 6

@ S MIGrD

§




Mill Bodies

Dimensions (mm) X Accessories
Order Number Cutting
r
DC | ZEFP | DCON LF | APMX iz Screw Clamp gl‘:;"vf TORXKey | Cap Screw
P
@ & @& ¢ < ¢
SNMX1206-F88-D5075822-C | 50 5 22 40 | 15
2508-M10x30
SNMX1206-F88-D6326522-C | 63 6 2 40 N5
SN.. 1206.. 4615-Ma4xT1 ACK-05 4015-MéxTl 80-T15
SNMX1206-F88-D80Z7S27-C | 80 7 27 50 | 15 2510-M12x35
SNMX1206-F88-D10029S32-C | 100 9 32 52 15 2514-M16x35
Dimensions (mm) . Accessories
Order Number Cutting
I
DC | zEFP DCON| LF |Apmx  msert Screw Clamp S TORXKey | CapScrew
2
& ¢ @& ¢ < ¢
SNMX1206-F45-D5024822-C | 50 4 22 452 6
SNMX1206-F45-D5025522-C | 50 5 22 452 6
2407-M10x30
SNMX1206-F45-D6326522-C | 63 6 2 42 6
SNMX1206-F45-D6377522-C | 63 7 22 42 6
SNMX1206-F45-D80Z7S27-C 80 7 27 52 6
2510-M12x35
SNMX1206-F45-D8078S27-C | 80 8 27 52 6 SN.. 1206. 4015-MbxTl ACK-05 4015-Méx11 80-T15
SNMX1206-F45-D100Z8S32-C | 100 8 32 52 6
2514-M16x35
SNMX1206-F45-D100Z10S32-C| 100 | 10 32 52 6
SNMX1206-F45-D125Z11S40 | 125 1 40 65 6
SNMX1206-F45-D160Z12S40 | 160 | 12 40 65 6 -
SNMX1206-F45-D200714860 | 200 | 14 60 65 6

microbor




Mill Bodies

> 5
Q —— I —— 1 0
o [ - | O
APMX| | LH J
! LF
Dimensions (mm) X Accessories
Order Number Cutting
I
DCX  ZEFP | DCON @ LF LH | APMX s Screw Clamp glfx TORX Key
>
° & @ & '6
RPMTO8T2-E-D20Z2W20-L150-C| 20 2 20 150 60 4
RP.08T2. | 3008-M2.5x6 - - 80-T08
RPMTO8T2-E-D25Z3W25-1200-C 25 3 25 200 | 100
RPMTI0T3-E-D2572W25-1200-C| 25 2 25 200 100 5
RP..10T3.. 4015-M3.5x9 - - 80-T15
RPMTIOT3-E-D32Z3W32-1200-C| 32 3 32 200 | 100 5
RPMT12-E-D32Z3W32-1150-C 32 3 32 150 60
RP.. 1204. 4015-M&x9 - - 80-T15
RPMT12-E-D32Z3W32-1200-C 32 3 32 200 | 100 6
Dimensions (mm) . Accessories
Order Number Cutting
T
DCX | ZEFP | DCON = LF | APMX [hecit Screw TORX Key gﬁre"v"v’
:
RPMT12-F-D5024522-C 50 22 50 6
2508-M10x30
RPMT12-F-D6375522-C 63 5 22 50 6 RP.. 1204.. 4015-MéxT1 80-T15
RPMT12-F-D80Z6527-C 80 6 27 50 6 2510-M12x35

99

microbor




Mill Bodies

DCX
\
X @)
@ I o
1
DCON

APMX
> e
LH
LF
Dimensions (mm) . Accessories
Order Number Cutting |
rder cl
DCX | ZEFP DCON  LF LH | APMX psel Screw Clamp Sorom TORX Key
o
0 ¢ @ ¢ _<
RDMTI0T3-E-D2022C20-1150 20 2 20 150 | 60 5
RDMT10T3-E-D20Z2W20-1150 20 2 20 | 150 60 5
RDMTI0T3-E-D2572C25-1150 25 2 25 | 150 60 5
RDMTIOT3-E-D2572C25-1200-C 25 2 25 | 200 100 5 RD.10T3 | 4015-M3.5x9 ACK-15 4015-M3.5xT1 80-T15
RDMT10T3-E-D2522W25-L150 25 2 2% | 150 60 5
RDMTIOT3-E-D3273C25-1250-C 32 3 25 | 250 35 5
RDMTI0T3-E-D32Z3W32-1150 2 3 2 | 150 60 5
RDMT12-E-D3223C32-1160 32 3 2 | 0 70 6
RD.1204 | 4015-M35x9 ACK-15 4015-M3.5xT1 80-T1s
RDMT12-E-D32Z3W32-L160 32 3 2 | 10 70 6
Dimensions (mm) . Accessories
Order Number i Cl
r
DCX | ZEFP |DCON LF  APMX (e Screw Clamp Soron TORXKey | Cop Screw
2]
0 ¢ @ ¢ < ¢
RDMTIOT3-F-D5025522-C | 50 | 5 22 | 50 5
RD.10T3.  4015-M3.5x11 ACK-15 | 4015-M35xT1 80-Tis 2508-M10x30
RDMTIOT3-F-D6326522-C | 63 | 6 | 22 50 | 5
RDMT12-F-D40Z4516-C 4 | 4 % | 4 | 6 2406-M8x30
RDMT12-F-D5025522-C 50 | 5 2 | 50 | 6
2508-M10x30
RDMT12-F-D6326522-C 63 | 6 | 2 50 | 6 RD..1204. | 4O15-M3.5xT1 ACK-15 | 4015-M35xT1 80-Tis
RDMT12-F-D80Z7527-C go | 7 27 | 50 | 6 2510-M12x35
RDMT12-F-D100z8S32-C | 100 | 8 = 32 | 50 | 6 2514-M16x35

microop =




Mill Bodies

P4
75 0]
Q - 14+ O
o a)
APMX[. |4
LF
Dimensions (mm) X Accessories
Cutting
Order Number Insert
DCX ZEFP = DCON LF LH APMX Screw TORX Key
P
LNMUO303-EHF-D1622C15-1150 16 2 15 150 30 1
LNMUO303-EHF-D16Z2W16-L150-C 16 2 16 150 50 1
LNMUO303-EHF-D20Z3W20-L150-C| 20 3 20 150 50 1
LNMUO303-EHF-D21Z3C20-L150 21 3 20 150 30 1
LN.. 0303.. 3008-M2.5x6 80-T08
LNMUO303-EHF-D25Z4W25-1150-C 25 4 25 150 50 1
LNMUO303-EHF-D26Z4C25-L150 26 4 25 150 30 1
LNMUO303-EHF-D33Z5C32-L200 33 5 32 200 30 1
Dimensions (mm) . Accessories
Cutting
Order Number Insert
DC ZEFP | DCON LF APMX Screw TORX Key Cap Screw
P
S ¢ < &
LNMUO303-FHF-D4076S16-C 40 6 16 40 1 2506-M8x30
LNMUO303-FHF-D5027S22-C 50 7 22 50 1 LN.. 0303.. 3008-M2.5X6 80-T08
2508-M10x30
LNMUO303-FHF-D6379S22-C 63 9 22 50 1

101

microbor



Mill Bodies

= H:[ ol
Q - N
a — T - - r 1 - - O
o
APMX||
LH
LF
Dimensions (mm) . Accessories
Cutting
Order Number Insert
DCX ZEFP = DCON LF LH APMX Screw TORX Key
2]
WNMX09-EHF-D2522W25-1120-C 25 2 25 120 40 15
WNMX09-EHF-D2572C25-L200 25 2 25 200 120 15
WNMX09-EHF-D32Z3W32-L120-C 32 3 32 120 30 15
WNMX09-EHF-D32Z3W32-L200-C 32 3 32 200 100 15 WN.. 09T3.. 4010-M3x8 80-T10
WNMX09-EHF-D35Z4W32-L200-C 35 4 32 200 50 15
WNMX09-EHF-D40Z4W32-1120-C 40 4 32 120 30 1.5
WNMX09-EHF-D40Z4C32-1L200 40 4 32 200 30 15
DCON
i
L
]
S
DCX o
<
Dimensions (mm) X KomnnekTyioLme
Cutting
Order Number Insert
DCX ZEFP | DCON LF APMX Screw TORX Key Cap Screw
2
4 ¢ < ¢
WNMX09-FHF-D40Z4S16-C 40 4 16 40 15 2506-M8x30
WNMX09-FHF-D5075S22-C 50 5 22 40 15 WN.. 09T3.. 4010-M3x8 80-T10
2508-M10x30
WNMX09-FHF-D6326S22-C 63 6 22 40 1.5

microop =




Mill Bodies

> =z
Q | . 1 9
- :

APMX

—»L— LH

LF
Dimensions (mm) . Accessories
Order Number Cutting
r
DCX | ZEFP DCON  LF LH  APMX st Screw Clamp gl‘::;’ TORX Key

Q@ & @& ¢ <

SDMT09-EHF-D22Z2W20-L150 | 22 2 20 150 30 14
SDMTO09-EHF-D2572C25-1150 = 25 2 25 150 9% 14
SDMT09-EHF-D2522W25-1150 | 25 2 25 150 9% 14
ACK-15 1510-M3.5x9
SDMT09-EHF-D2872C25-1150 | 28 2 25 150 30 14
SDMTO09-EHF-D3273C32-1150 = 32 3 32 150 100 14 SD..09T3.. | 3010-M3.5x9 80-T10
SDMT09-EHF-D32Z3W32-1150 | 32 3 32 150 90 14
SDMT09-EHF-D25Z3C25-1150 | 25 3 25 150 60 14 B B
SDMT09-EHF-D32Z4C32-1150 | 32 4 32 150 60 14
Dimensions (mm) . Accessories
Cutting
Order Number Insert
DCX | ZEFP | DCON = LF | APMX Screw TORX Key Cap Screw
2]
@ ¢ < ¢
SDMT12-FHF-D5224522-C 52 4 22 50 2
SDMT12-FHF-D5275822-C 52 5 22 50 2
2508-M10x30

SDMT12-FHF-D6625522-C 66 5 22 50 2 SD.. 1205.. 4015-MéxT1 80-T15

SDMT12-FHF-D6626522-C 66 6 22 50 2

SDMT12-FHF-D80Z6S27-C 80 6 27 70 2 2510-M12x35

]




Mill Bodies

75°

SPKN12 - SNGN12

Dimensions (mm) Accessories
Cutting
Order Number Clam
DC | ZEFP DCON LF |APMX s Clamp 5 Crevf Hex Key Cap Screw
SPKN12-F75-D50Z4S22 50 4 22 42 8 AKV-22-M8x1x14
SPKN12-F75-D6325522 63 | 5 22 4 | 8 2508-M10x30
SPKN12-F75-D80Z6S27 80 6 27 50 8 2510-M12x35
SPKN12-F75-D100Z7S32 100 7 32 50 8 SP.N 1203.. ACK-10 AKV-13-M8x1x16 AAL-05-4 2514-M16x35
SPKN12-F75-D125Z8S40 125 8 40 63 8
SPKN12-F75-D160Z9S40 160 9 40 63 8 -
SPKN12-F75-D200Z12S60 200 12 60 63 8
88°
Dimensions (mm) . Accessories
Order Number (i::tel?tg Clamp
DC | ZEFP DCON LF | APMX Clamp Screw Hex Key Cap Screw
SNGN12-F88-D50Z5S522 50 5 22 40 n
2408-M10x30
SNGN12-F88-D6326S22 63 6 22 40 n
SNGN12-F88-D80Z7527 80 7 27 50 n SN.N 1204.. ACK-21 AKV-24-M6x1x1 AAL-03-3 2510-M12x35
SNGN12-F88-D100Z8S32 100 8 32 50 n 2514-M16x35
SNGN12-F88-D125Z11S40 125 n 40 63 n -

microbop o=




Mill Bodies

DCON
90°
\
|
[T
[T
-
— f x
>
Lo
90" | <
Y
DC
Dimensions (mm) Accessories
Cutting
Order Number cl
DC | ZEFP DCON LF APMX ==is Clamp . Hex Key Cap Screw
S
i
TPGN16-F90-D50Z4S22 50 4 22 40 12 ACK-10 AKV-22-M8x1x14 2407-M10x30
TPGN16-F90-D6326S22 63 6 22 45 12 AKV-13-M8x1x16 2508-M10x30
TPGN16-F90-D80Z7S27 80 7 27 50 12 TP.N 1603.. AAL-05-4 2510-M12x35
TPGN16-F90-D100Z8S32 100 8 32 50 12 ACK-T1 AKV-14-M8x1x18 2514-M16x35
TPGN16-F90-D125Z8S40 125 8 40 63 12 -
TPGN22-F90-D6375S22 63 5 22 45 18 2508-M10x30
TPGN22-F90-D80Z6S27 80 6 27 50 18 2510-M12x35
TPGN22-F90-D100Z7S32 100 7 32 50 18 2514-M16x35
TPGN22-F90-D12528S40 125 8 40 63 18
TP.N 2204.. ACK-T AKV-14-M8x1x18 AAL-05-4
TPGN22-F90-D160Z9S40 160 9 40 63 18
TPGN22-F90-D200Z212S60 200 12 60 63 18
TPGN22-F90-D250Z15S60 250 15 60 63 18
TPGN22-F90-D315Z18560 315 18 60 63 18

105

microbor




info@microbor.com
www.microbor.com /en




